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PART - | : PHYSICS

A point charge +q, is projected in a magnetic field

B= (3f - Zj —4K) . If acceleration of the particle is
a = (ai +2j— 4K) , then the value of a will be

(H1 (2)-1

(3)-4 4)-2

A light ray falls on one surface of prism. Path of

light ray is shown. Refractive index of prism
material is:

(H1.2
3) 1.6 4) 1.8

A straight bar magnet has magnetic moment M.
Now it is cut in two equal parts keeping cross
section same and arranged right angles to each

other. Magnetic moment of the system will now
become:

) 14

M3 @) {am
M M
e % @ 5

Statement-A : Lenz law is a consequence of law
of conservation of energy.

Statement-B : Induced
conservative in nature

(1) Both A and B are false
(2) Both A and B are true

(3) A is true and B is false
(4) A is false and B is true

What is the frequency of instantaneous power in an
AC circuit connected to a capacitor.

Given f= 100 Hz, V =220 Volt
(1) 50 Hz (2) 200 Hz
(3) Zero (4) 60 Hz

electric field is non

1.

TF 4G ST +q, Uh GEBNT & AuAfa fpar
o & B=(3-2]-4k) afy @or @1 w@=or &
a=(ai+2j—4Kk), dr a 1 7 BT ST

(1)1 2)-1

(3) -4 4) -2

U Yl fbvor fUsq &) U ¥dg W usdl ¢ |
b1 fHRoT &1 Ut ey ar g | fUsw ugred &1
Ui R 2—

(1) 1.2
3) 1.6

(2) 1.4
(4) 1.8
TP W) BE gad § gadrg el M erar 2 39

S &I dRTER 9 H BIST ST © AR ATULRT Bl
DI FAM @ AT & AR TH TR D FADIT
JaRerd fbar Siar © | e &1 gaar smep
31§ g SITYT—

M 5 @) I
M M
® % @

BYF-A : ol TIH, oIl GReUT & RH BT
gRomy 2 |

FHUE-B : URT g & gafa # el 2|

(1) AR B EHI 39 &

(2) ASIR B gHI 9T &
(B)AVT ¢ IR BT &

(4) A3 € IIRBAA ®

AT I s AC yRuer § drefores i &
gy @ar 27?

f&am 73 € £=100 Hz, V = 220 Volt

(1) 50 Hz (2) 200 Hz

(3) I (4) 60 Hz

Space for rough work
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Assertion-A: Keeping the frequency constant, if

intensity is doubled stopping potential becomes

more than double.

Reason-R: If the energy of incident photons

become double, stopping potential becomes more

than double.

(1) Both A and R are true and R is NOT the correct
explanation of A.

(2) Ais true but R is false

(3) Ais false but R is true

(4) Both A and R are true and R is the correct
explanation of A.

Thousand equal charged tiny drops are combined

to form a big drop. If the potential on each tiny drop

is 0.1 V then potential of big drop will be :-

(H4ov 2)10VvV

3)30V @20V

A square surface of side L metres is in the plane of

the paper. A uniform electric field E (volt/m), also

in the plane of the paper, is limited only to the lower

half of the square surface, (see figure). The electric

flux in SI units associated with the surface is :-

(2) BL?2

(1) EL?/(2¢,)
(3) zero (4) EL?

Charges +q and -q are placed at points A and B
respectively which are at distance 2 L apart, B is

the midpoint between C and D. The work done in
moving a charge +Q along the semicircle CRD is :-

C
) __99 2) _9Q
W) 6me, L ()47teOL
37 4) _9Q
(3) Zero 4 2

FF-A: AGRT DI Rer wad gy, Ife daar g

B Sl &, @1 R fva SR 9 e 81 S

gl

PRU-R: A MUfTd BIEH & Soff IR 2

ST B, a1 FPREN fava SR & e1fde &1 o 2 |

(1) ASIR REMFT 9 € 3R R, A ®T F&! TSIHRT
REI

(2) A 8 AfdT R eI &

(3) A3 § AfhI R I

(4) AIIRR Tl 9 € IR R, A &1 &I TIHT
g

1 B9R qRIER AR B T8 BIS gal BT Femax
U g1 g8 g9l ¢ | Ife g Bl g8 W fava
0.1V g, dr 9! g &1 fa9a w1 grm—

(1) 40 V )10V

(3)30 V (4)20 V

SIS b del § L AIC 9ofl arell U didR I
2| TP |AF fIgd &3 £ (volt/m) BT & I
fl, TPR g8 & ddd el A 4N ddh 8l
a8y 2, (R <) | 9ag 9 Hey SI gahrsai
# faga wae B

(2) EL%2

(1) EL?/(2¢,)

() =F (4) EL?

3TN +q AR -q HF: g AR B R W 77 & &
R 2L P I R & B, CIIRD & dF &1 74
fdg 8 | 31Efat CRD & SfRer 31Maer +Q &1 o W
# forar T B B

/-ED

AT R\?B

iC
(1) —% 2) %
(3) T (@) %

Space for rough work
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10.

11.

Two thin dielectric slabs of dielectric constants K;
and K, (K; = K, = o) are inserted between plates
of a parallel plate capacitor, as shown in the figure.
The variation of electric field 'E' between the plates
with distance 'd' as measured from plate P is
correctly shown by :-

=
+

Q

++++++++

'd—:r

d—
A particle executes simple harmonic oscillation

with an amplitude a. The period of oscillation is T.
The minimum time taken by the particle to travel

J3

of the amplitude from the equilibrium
position is :-
(1) T2
(3) T/8

(2) T/6
4) T/12

10.

11.

wRideEld ReRid K AR K, & & Udlel WRIIEA wid
(K; =K, = 0) T FAMITR e FIRT B Wil
@ 919 BT A 2, o o o | fzamam a2
WIE P ¥ A1 T3 g 'd' @ W wlel & 919 fagd
&5 'E' @ f=IaT &I W&l < | ST W B

-

+++++++++

o

'd—>

Uh HUl Udh IMAMH a b W AR Add Ifd
foerfed oRdT &1 Sicid &I 37T TR BT g

? AT T T AR fdg | A3 B

H foram T <gAaH 99 5
(1) T/2 2) T/6
(3) T/8 4) T/12

Space for rough work
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12.

13.

14.

15.

A liquid of mass m and specific heat C is heated to

a temperature T. Another liquid of mass [%j and

specific heat X is heated to a temperature 2T. If
these two liquids are mixed, the resulting

. . 3T
temperature of the mixture is > then :

(H)X=C
3C
@ x==
5C
() x==
(4)X =2C

Assertion : Acceleration of A is greater than
acceleration of B for given velocity time graph.
Velocity

A

time

Reason : Slop of wvelocity-time graph gives

acceleration.

(1) Both A and R are true but R is a correct
explanation of A

(2) Both A and R are true but R is not correct
explanation of A

(3) Ais true but R is false

(4) Both A and R are false

The fringe-width in a Young's double slit
experiment can be increased, if we decrease

(1) Separation between the slits

(2) Width of the slits

(3) Distance between slit and screen

(4) Wavelength of the source of light

A carnot engine has an efficiency of 40% when it's
source is at temperature of 527°C. The temperature
of sink is-
(1) 480°C
(3) 207°C

(2) 207K
(4) 400 K

12.

13.

14.

15.

TIHA m 3R faf¥re S C & T axal Bl amoHH=
THR 79 B a2 | (%)WEBTQEB@R’

TR IR fafdre HoAT X Bl aE= 2T 9R 9 fhar
ST ® | Afe 39 <91 gdl bl {err orar g,

faysror 1 gROm argE 37-[%\’,?‘!—6[—

()X=C
3C
@ x==
5C
(3 x==
(4)X =2C

HYT: A oy T o A BT @R BB @RoT
I e 2

Velocity

time
PR : I—THT dh B Glof RUT U Pxall 2 |
(1) U9 Td HRUT QI 8l A & oAfdd HRT,
AT B TSl AR BT T |
(2) U Td HRU Gl 8 AT & oAfhd BRI,
AT B Tl ARAT e} BT 2 |
(3) BT TF T Afhd BRI 3N 2 |
(4) I V4 HROT 1 3T B |
AT & fgfRere wamT 4, vt AisiE # gfg & o
RSGe|l] %; gfe g9 HH PYd o—
(1) Rerei & 77 g0 &!
(2) Reret @t arers &1
(3) Refe @21 ud & #eg X Bl
(4) UBTeT A B aRTeed BI
U BMC 3o B eIl 40% Bl & ol ST
[T 527°C YA WR BT © | Rie &1 daae 2—
(1) 480°C (2) 207 K
(3) 207°C (4) 400 K

Space for rough work
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16.

17.

18.

19.

20.

21.

Let T, and T; be the energy of an electron in the
first and second excited states of hydrogen atom,
respectively. According to the Bohr's model of an
atom, the ratio T, : T2 is :

(H4:1 2)4:9

3)9:4 4 1:4

An energy of 128 J is spent in increasing the speed
of a flywheel from 60 rpm to 120 rpm. The moment
of inertia of the flywheel is :

(1) 0.7 kg-m? (2) 3.22 kg-m?

(3) 2.1 kg-m? (4) 0.07 kg-m?

In series LCR circuit L = 10 mH, C =10 pF. R =
40Q2 is connected to AC source of V = 200 sinmt.
Find power at half power frequencies.

(1) 500 W (2)250W

(3) 3000 W (4) 4000 W

A barometer is constructed using a liquid (density
= 760 kg/m?). What would be the height of the

liquid column, when a mercury barometer reads 76
cm ?

(density of mercury = 13600 kg/m®)
(1)1.36m (2)13.6 m
(3) 136 m (4)0.76 m

The time period of a geostationary satellite is 24 h,
at a height 6Rg (R is radius of earth) from surface
of earth. The time period of another satellite whose
height is 2.5 Rg from surface will be,

(1) 642 (2) 1242
24 12
3) —h 4) —nh
) 2.5 @ 2.5
. i
If|A><B|=$ then the value of | A— B is:
(1)A+B
(2) A-B

(3) (A% + 87 —J§AB)“2

@) (A?+B+ \/§AB)U2

16.

17.

18.

19.

20.

21.

A ARGy BISSISM URAY] &1 YoM Ud fgdia
IS TqeI3AT H T, T T SAFG T DI HATTAR
Sl g IR & URAIY] Afed & IR, JUTd T,
:Tr 58—

(1) 4: 1 (2)4: 9

(3)9: 4 4)1: 4

Ueh Fellglel B BIUNF ATel DI 60 rpm ¥ 120 rpm
TP g8 H 128 J B FHoll W9 Bl oIl 8 | a9
HT STecd IMMEYT BT o—

(1) 0.7 kg-m? (2) 3.22 kg-m?

(3) 2.1 kg-m? (4) 0.07 kg-m?

3oft " H LCR YRU L =10 mH, C = 10 pF. R =
40Q V =200 sinot H AC AT & T ¥ | MMl wfe

MRl TR Rfd ST BHIfTg—
(1) 500 W (2) 250 W
(3) 3000 W (4) 4000 W

UHh SRHCR & 4 e e (g9dd = 760
kg/m’) BT SUINT &P (AT ST | o6 PIg
TRRR] RHIEX 76 cm YT ©, A w9 W B
SHATg T BT

(IR BT T4 = 13600 kg/m?)

(1)1.36 m 2) 13.6 m

(3) 136 m (4)0.76 m

T YROR SUUE & FHI AT 24 h 8, S gedl
@ Fdg H 6Re (Re Yl a1 151 ) o1 a8 R
2| U 31T SYUE $I AHI (A a7 Rl et
$HAE FAE A 2.5 Ry 8-

(1) 642h (2) 1242h

24 12
(3)2—5h (4)Eh

Bl AB s
afg [ AxB| N al BT AE (A-B| B
(1)A+B
(2)A-B

(3) (a*+B?2 —\/§AB)M

(4) (A% 4B + J§AB)1/2

Space for rough work
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22,

23.

24,

25.

26.

Resistance of a given wire is obtained by
measuring the current flowing in it and the
potential difference applied across it. If the
percentage errors in the measurement of the current
and potential difference are 2% each. Than the
error in the value of resistance of the wire is :

(1) 3% 2) 2%

(3) 4% (4) zero

Which of the following sets have different
dimensions;

(1) Pressure, Young's modulus, stress

(2) EMF, potential difference, electric potential
(3) Heat, Work done, energy

(4) Dipole moment, electric flux, electric field.

If the screw on screw gauge is given six rotations,
it moves by 3 mm on the main scale. When the two
jaws are closed, it was found that zero of the
circular scale lies 3 division below the reference
line of linear scale. If there are 50 divisions on
circular scale, the least count and zero error in
instrument are respectively.

(1) 0.005 mm & — 0.03 mm
(2) 0.01 mm & +0.03 mm
(3) 0.005 mm & +0.03 mm
(4) 0.01 mm & —0.03 mm

A conveyor belt is moving at a constant speed of 4
m/s. A box is gently dropped on it. The coefficient
of friction between them is p = 0.5. The distance
that the box will move relative to belt before
coming to rest on it taking g = 10 m/s? -

(1) 0.4 m (2) 1.6m

3)1.2m (4) 0.8 m

Fusion of nuclei is possible because the binding
energy per nucleon in them -

(1) Decreases with increase in mass number at low
mass numbers.

(2) Increases with increase in mass number at low
mass numbers.

(3) Decreases with increase in mass number at high
mass numbers.

(4) Increases with increase in mass number at high
mass numbers.

22,

23.

24.

25.

26.

fodft fou 717 IR &1 gferiy Sad yarfed g9 arel
HRT IR S99 TR IIRIMUT fI9aiar bl ATIHR ITe
frar Smar ® 1 afe grT IR favaiaRk @ AgE #
gfererd el AP 2% € | AR & URY & A
# yfcrera Ffe @1 8-

(1) 3% (2) 2%

(3) 4% 4)

feforRaa § 9 fow Ae & Srar—arerT faar 87
(1) T4, I BT HUID, Yfdet

(2) EMF, fawaid, faggd fawa

(3) ST, fHar 1T BRI, ol

(4) faga smeel, fagd woraw, fagd a3

(1) 0.005 mm & — 0.03 mm

(2) 0.01 mm & +0.03 mm

(3) 0.005 mm & +0.03 mm

(4) 0.01 mm & —0.03 mm

Th HRR de 4 m/s BT FRAR T A I &7 2 |

SH R UH d OR | RT far orer 21 SH e

d1F gNT AOT6 p=0.58 | 98 g Sl died 9o

& AUeT I9 TR IRM H 3 ¥ qd I B g =

10 m/s*—

(1) 0.4 m ) 1.6m

(3)1.2m (4) 0.8 m

1D BT AAIH GG © Hifdh IS4 Ul YfFerdi=

e FHofi—

(1) P9 S =T R GIHE ST A gfag
1T TedT 2 |

(2) FH TIHE T R GIAM G A gfg b
RISECT I

(3) ST TIAM AR R GIHM W1 H g b
A1 Hed g |

(4) S=0 TIAM A= R GIHE W1 H gfg B
RISECT I

Space for rough work
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27.

28.

29.

30.

The number of beta particles emitted by a
radioactive substance is twice the number of alpha
particles emitted by it. The resulting daughter is an-

(1) isotope of parent
(2) isobar of parent

(3) isomer of parent
(4) isotone of parent

Material A has critical angle is, and material B has
critical angle ig (iz > ia). Then which of the
following is true-

(i) Light can be totally internally reflected when it
passes from B to A.

(ii) Light can be totally internally reflected when it
passes from A to B.

(ii1) Critical angle for total internal reflection is ig
—ia.
Sinli,
(iv) Critical angle between A and B isSin~ [sml ]

(1) (i) and (iii)
(3) (ii) and (iii)

(2) (1) and (iv)
(4) (ii) and (iv)

Two Polaroids P; and P; are placed with their axis
perpendicular to each other. Unpolarised light I is
incident on P;. A third polaroid P; is kept in
between P and P; such that its axis makes an angle
45° with that of P;. The intensity of transmitted
light through Pj is :-

IO I0
O 8

I 1y
) 16 &>

In photoelectric effect experiment, the incident
wavelength A is decreases to A/4, then ratio of final
maximum kinetic energy to initial maximum
kinetic energy of emitted electron will be: (A/4 > Ao
where A is threshold wavelength).

(1) Equal to 4 (2) More than 4
(3) Less than 4 (4) Equal to 2

27.

28.

29.

30.

T feAer ugrel gRT Sfold dier B @l
IT TP gRT IcArId TShT BN Bl G I

SR & RO gt va—

(1) S9d BT ATSHIEY

(2) 5D BT ATSHER

(3) 5D BT AT

(4) STFd BT AT

ATH A H Hifdd B0 iy 7, IR ArgH B H Hifds
?’UT is T (ip > ia) @ FrfoiRad § & o9 A1 |9

(1)WWB®AEﬁ3ﬂ?W§ﬁa€Tﬁ
dRe wU W WRIafdd 8 HAhdl 2 |

(u)wrzTa—szﬁBzf?rsﬁ?W%aﬁgtp‘ra
dRe wU § Wrafdd 8l Hdbdl 2 |

(iii) gof SMAR® WRTadT & g Hifchd BT ip — ia
2

(iv) AR B @ 9/ pifcdd BIoT s nl(s'”' J

SIni

(1) (i) and (i) (2) (i) and (iv)

(3) (ii)and (i)  (4) (ii) and (iv)

Sl UIelRISS Py 3R P, Bl 3@ 31&T & A1 Udh g
@ olgdd @1 TAT & | AYfId YbTer Io Py OR 3rafa
2| TP RN URIsS P; BT P 3R P, & &9 34
UBR IGT ST & fb SHBT 3187 Py & AT 45° BT
AT 2 | P & HIETH W GAIRd YBIeT H gl

=

IO IO
(1) = 2 r
IO IO
(3) 5 4) >
Tl U YT W, SUfad aviesd A |

A4, BT ST ®, df Scafold golderd & Iifad
Tffrmad Tfas ol IR URMS Ifeas Tfas
SOl BT U T BT (M4 > Lo STT Ao TNTTS
ey ®)
(1) 4 & IR
(3)4% BH

(2) 49 31w
(4)2 & R

Space for rough work

®

Narayana Jaipur HO: B-28, Gopalpura Bypass Road, 10-B Scheme, Near Ridhi Sidhi Circle, Jaipur, Rajasthan 302018



31.

32.

33.

A real object is kept on the optical axis of a
converging lens. List-I represents the position of
object and List-II represents corresponding image
formed by lens. Match the List-I with List-I1.

List-I
(A) Object between infinity and 2F
(B) Object at 2F
(C) Object between 2F and F
(D) Object between F and optical centre
List-11
(i) Image is real, inverted and enlarged
(i1) Image is real, inverted and of same size
(iii)Image is real, inverted and smaller
(iv)Image is virtual, erect and enlarged
(1) (A)-(iv), (B)-(iid), (C)-(1), (D)-(i1)
(2) (A)-(iii), (B)-(0), (C)-(i), (D)-(iv)
(3) (A)-(iii), (B)-(ii), (C)-(i), (D)-(iv)
(4 (A)-(iv), (B)-(i1), (C)-(ii1), (D)-(1)
In a photoelectric experiment, blue light is capable
of ejecting a photoelectron from a specific metal
while green light is not able to eject a

photoelectron. Ejection of photoelectrons is also
possible using light of the colour :

(1) Red (2) Violet

(3) Orange (4) Yellow

Pure Si at 500 K has equal number of electron (n.)
and hole (ny) concentrations to 1.5 x 10'¢ m>.

Doping by indium increases ny to 4.5 x 10?2 m>.
The doped semiconductor is of :-

(1) p-type having electron concentrations n. = 5 x
10°m>

(2) n-type with electron concentration n = 5 x 10?
m3

(3) P-type with electron concentration n. = 2.5 %
10" m=

(4) n-type with electron concentration n = 2.5 %
1023 m—3

31.

32.

33.

U RIS I DI SIHANT o @ Afficdha qeT
UR T ST 2 | G-l aeg a1 Reafa &1 ufaffee
HRAT & SR G-Il o gRT (ST G sfd &t
gfc=feea #Rar & &1 A & G-I S 1er G-

II.
-1
(A)3d 3R 2F & d19 @l a%]
(B) 2F R a7
(C)2F 3R F & §19 a%]
(D)F iR dfifiedrd o & 99 aw
gA-11
(i) vfafde arafd®, Seer ik 9t g8 2
(i) ufafde aafa®, Seer IR A MER BT 2
(i) uffds ardfd®d, Seer 3R BleT &
(iv) ufafde Y, e 3R 9371 2
(1) (A)-(iv), (B)-(iii), (C)-(i), (D)-(ii)
(2) (A)~(iii), (B)-(1), (C)-(ib), (D)-(iv)
(3) (A)~(ii), (B)~(ii), (C)-(1), (D)-(iv)
(4) (A)-(iv), (B)-(ii), (C)-(iii), (D)-(i)
U Blersdfded YT H, el e Uk fafdee
g | UP DICIdel ®I arex Moo # dem
2 Sldfd B0 AT TP BICISAde bl drex
Nl 4 We™ T8 §1 fbd T & UBT @

SUINT TXP BICISdell bl Scdfcd 9T 28—
(1) <t (2) TR

(3) <7 (4) HretT

500 K W I[& Si H Soldci (ne) AR 8IS (ny) BT
[HE AigdT 1.5 x 106 m> e g & 1 sfeud
SR It &x= & &l |Aigdl 9dR np = 4.5 X
102 m3 &1 STl 8 A3 srfereas fhadr gl
e

(1) p-UdR T4 Selag= Fadl ne=5x10°m g
(2) n- PR TIH getagi= Aigdn. =5 x 102 m™

(3) p- PR STIH Selag i< Aiadl n, = 2.5 x 10'°

m3g

(4) n- PR SIH Selag= |igdT ne = 2.5 x 102

m3g

Space for rough work
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34.

35.

36.

37.

In forward biasing of the p-n junction :-

(1) The positive terminal of the battery is connected
to p -side and the depletion region becomes
thick.

(2) The positive terminal of the battery is connected
to n -side and the depletion region becomes
thin.

(3) The positive terminal of the battery is connected
to n-side and the depletion region becomes
thick.

(4) The positive terminal of the battery is connected
to p-side and the depletion region becomes
thin.

The output (X) of the logic circuit shown in figure

will be :

A

Bl 1] »—X
(1) X=A+B (2) X=AB
3) X=AB (4) X=AB
The pitch of a screw gauge is 0.5 mm and there are
100 divisions on its circular scale. The instrument
reads +2 divisions on circular scale when nothing
is put in-between its jaws. In measuring the
diameter of a wire, there are 8 divisions on the main
scale and 83rd division of circular scale coincides
with the reference line. Then the diameter of the
wire is
(1) 4.05 mm
(2) 4.405 mm
(3) 3.05 mm
(4) 1.25 mm
A wire carrying current I has the shape as shown in
adjoining figure. Linear parts of the wire are very
long and parallel to X-axis while semicircular
portion of radius R is lying in Y-Z plane. Magnetic
field at point O is :

Z

>y

34.

35.

36.

37.

p-n?fr% % felRe ifad #-—
(1) S8 &1 gATAS A p-Thedd d ST BIdl

2 3N 3rgery & Al 81 ST 2 |
(2) 9 BT gTHAS HTA n-Berd A ST BNl
2 JT 319ery &5 Ydoll & oIl § |

(3) 9ot FT gTHD <HTA n-BAD A ST Bl
2 3R 3raery & HIeT 81 WidT 2 |

(4) I8 BT g-THS el p-Heid A S[ST Bl
2 JAT 319ery &3 Ydoll 8 oIl § |

P H @y U d@ uRuer &1 3mseye (X)
BT

g 1 X
(1) X=A+B (2) X=AB
(3) X =AB (4) X=AB
U B ISl Bl U9 0.5 mm B AR AP MATHR
T TR 100 SIS € | SUBRIT MATdHR TAM W
+2 SISl DI UGl & Sld §9d Sds b dId Bo
Al &1 ¥@1 Sl € Uh dR & ot Bl AT H,
o Y oR 8 fauTS Bid 8 iR g u
Bl 83 a1 fIATSIT WaH Y& & A1 Hel @ g, i
AR BT A T 2
(1) 4.05 mm
(2) 4.405 mm
(3) 3.05 mm
(4) 1.25 mm
fIed &RT g8 B dlel AR & DI PG =F |

TS TS SMHfA & IR 8| OR & Raw wrr
IEA o 31 X-37eT & FHMIR 8l § widfh e

R @1 JRIATHR 9T Y-Z a1 # Rerq grar 21 fdg
O W Fad &3l -
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38.

39.

40.

Bo_ Mo 1 o
(1) B=—, 2 (ni—2K)

(2) B= —Z—O%(n€+ 2K)
7T

Bobo b o
(3) B=, 2 (mi—2K)

oM I =
(4) B inR (mi + 2k)
A rectangular coil of length 0.12 m and width 0.1
m having 50 turns of wire is suspended vertically
in a uniform magnetic field of strength 0.2
Weber/m?. The coil carries a current of 2A. If the
plane of the coil is inclined at an angle of 30° with
the direction of the field, the torque required to
keep the coil in rest will be :

(1) 0.12 Nm (2) 0.15 Nm
(3) 0.20 Nm (4) 0.24 Nm
Two batteries, one of emf 18 volts and internal
resistance 2Q2 and the other of emf 9V volt and

internal resistance 1Q, are connected as shown.
The voltmeter V will record a reading of :-

2Q
|
|
1 18
|
1

< T o

(1) 12 volt
(2) 30 volt
(3) 14 volt
(4) 15 volt
When a wire of uniform cross-section area a, length
¢ and resistance R is bent into a complete circle,

equivalent resistance between any two points
subtending an angle 120° at centre is :

R 2R
3 @) 5

2R R
) = & 5

38.

39.

40.

(1) B= —%%(ﬁ—Zk)
) B= —Z—O%(ni—i— 2Kk)
T

oMol 5
(3) B=, 2 (ni—2K)

4) B =Z—°%(n€+ 2k)
T

0.12 m &a1g 3R 0.1 m IS dTell UHh SAIATDR
Heoll foRF IR & 50 B &, 0.2 Weber/m? &
& YHAAN I &5 H ddaq oud Felfdd 7|
Hecll H 2A fagd o1 yarfed 8l 8 | afe gall
S T BT &F B Q=T & |1 30° D IV W YT
B3N ®, ol @scll @l faRmmERen d§ 3@+ & fofg
3MITISH I IMEVT BRTI—

(1) 0.12 Nm (2) 0.15 Nm

(3) 0.20 Nm (4) 0.24 Nm

gl 9, TP emf 18 dice iR 3ridRe Uik 20
3R gAY emf 9V dlee IR MRS TR 1Q @,

@y MU S ER Sl §8 © | dlecHier V e
ST Rale Hm—

N\
)

(1) 12 volt
(2) 30 volt
(3) 14 volt
(4) 15 volt
ST T I HIG—Ide &3 BT U dR a, ddls
¢ 3R UfRIE R I Y 9of g1 H ArST Ol &, ds
TR 120° HIoT B FHT B dTel Tl a1 fdgai

& dra FAged Uik a1 83—
R 2R

M5 @ 5
2R R

) = Ol
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41.

42.

43.

44.

45.

When the number of turns and the length of the | 41. T4 BRI B AT 3R gRATIRT BT ofdTs Bl
solenoid are doubled keeping the area of cross PRA—TRE S &9 Bl FAM G gU ST X
section same, the inductance fear Sirar 8 ol IRdbea—
(1) Remains the same (1) 98! I8aT &
(2) Is halved (2) 3T & ST ®
(3) Is doubled (3) EIAT & oIl &
(4) Becomes four times (4) IR -1 HESIGIR
An organ pipe filled with a gas at 127°C resonates | 42. 127°C W 9 ¥ *_T U& 3i01F U3y 9+ #iferd
at 200 Hz in its fundamental mode. If it is filled Hre # 200 Hz R fcredf=a gIem 8 | afe g9 300°C
with the same gas at 300°C, the resonance R A I H 9T ST 8, A1 S Al WR ST
frequency at the same mode will be :- amafr grfi—
(1) 400 Hz (2) 280 Hz (1) 400 Hz (2) 280 Hz
(3) 240 Hz (4) 200 Hz (3) 240 Hz (4) 200 Hz
Body A of mass m moving with speed u collides | 43. m AN BT 9 A AT ude A T PR & &,
with another body B of mass 3 m, at rest. The foRm & RId 3meamE & & o fils B9
collision is head on and elastic in nature. After the SHIICT © | THI TG 3R Uil H U =
collision the fraction of energy lost by the colliding THIG & I ShHIH dTell [Uvs A gRT @ls TS
bOdyAiSZ WWWW%—
3 8 3 8
(1)4 (2)g 1) = (2)5
4 5 4 5
3) n “) ; 3) n “) )
A car is negotiating a curved road of radius R. The | 44. U DR 531 R ®I GAMER H$h WX T DR &
road is banked at an angle 0. the coefficient of 2| AS® B b1 DIV O | BR IR ASH D
friction between the tyres of the car and the road is TRRI & 19 98] UM (17 | 59 Fedh R <ATH
us. The minimum safe velocity on this road is :- qu-fy}m T B—
M) |gr? (tan®—py) ) (tan6-p,)
(1+p, tan®) 1+ i, tan )
@ lor (tan®—p,) @ lor (tan6—p )
(1+p tan®) (1+ptan6)
3) g (tan®—py) 3) 9 (tan®—p, )
R (1+p, tan @) R (1+p, tan0)
@) g (tan®-p,) ( )\/i2 (tan6—p, )
R? (1+p tano) R? (1+p tan o)
A block of mass 5 kg, moving in x direction with a 45. Skgw PT TP AP 20 m/s BT IR a1 B
constant speed of 20 m/s, is subjected to a retarding T X ]‘%g]‘r H T AR RET R, x=0W 10m BT A
force F = 3x? J/m during its travel from x =0 to 10 Eﬁ SR HSP e F=3x" J/m & 3T & | F6Hl
m. Its final KE will be : 3ifcm KE grfi—
(1)450] (2)2751] (1)450J (2)2757
(3)2501] (4) zero (3)250J (4) =3

Space for rough work
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PART - 1l : CHEMISTRY

46.

47.

48.

49.

50.

51.

The number of sigma (o) and pi(s) bonds in pent-
3-en-1-yne is :-

(1) 106 bonds and 3n bonds

(2) 8o bonds and 5 bonds

(3) 11obonds and 3t bonds

(4) 130 bonds and no » bond

Number of pn—drbonds in XeO, :-

(1) One (2) Two

(3) Four (4) Three

The stability of dihalide of Si,Ge,Sn, and Pb
increases in the sequence :-

(1) GeX, <SiX, <SnX, <PbX,
(2) SiX, <GeX, <PbX, <SnX,
(3) SiX, <GeX, <SnX, <PbX,
(4) PbX, <SnX, <GeX, <SiX,

Correct order of atomic radius in group 13"
elements is :-

(1) B<Al<In<Ga<TI
(2) B<Al<Ga<In<TI
(3) B<Ga<Al<In<TI
4) B<Ga<Al<Tl<In

IE,,IE,,IE, of an element is 7eV,12.5¢Vand 42.5

eV respectively, then the most stable oxidation state
of element will be :-

(1) +1 (2)+2

(3) +3 (4) +4

Reaction

CO(g) +H,0(9) —gare—CO,(9) + H,(9)
is known as :-

(1) Oxidation only
(2) Reduction only
(3) double decomposition
(4) Simple redox reaction

46. R (o) T pi(n) 9 @ FE=T R
(1)10c 9y 3R 3n 99
(2) 8c € 3R bn d
(3) o4y 3ik 3n &
(4) 1309y 3R & &

47. XeO, ¥ prn—drn 9 @ H&T & —
(1) T® @)«
(3) IR (4) @

48. Si,Ge,Sn, IR Pb & SRIRATSS &I ReRrar fr=

P8 H gedl & —

(1) GeX, <SiX, <SnX, <PbX,
(2) SiX, <GeX, <PbX, <SnX,
(3) SiX, <GeX, <SnX, <PbX,
(4) PbX, <SnX, <GeX, <SiX,

49. Wg 13" deal ¥ WA o &1 9w ow -

(1) B<Al<In<Ga<TI
2) B<Al<Ga<In<TI
3) B<Ga<Al<In<TI
4) B<Ga<Al<Tl<In

50. UP o Bl IE,,IE,, IE, I 7eV,125eV iR
42.5¢eV B, A A & a9 ReR SRAHROT 3ravern

Bl —
(1) +1
(3) +3
51. arffoar
673K

CO(9) +H,0(9) —cms > CO,(9) + H,(9) @

Catalyst

2)+2
4)+4

forg w9 o ST SfraT ® -
(1) ATRATBHT Hae

(2) JMUTIT HaA

(3) fefaaeq sfafear

(4) NSfa srfwfosar

Space for rough work
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52.

53.

54.

5S.

An electron travels with velocity of x m/s for a
proton to have the same de-broglie wavelength as
that of electron, the velocity will be :-

1840 X
== ) T8a0
(3) 1840 x (4) x

A compound of magnesium contain 21.9 %
magnesium, 27.8 % phosphorus and 50.3 % oxygen.
What will be the simplest formula of the compound?
(1) Mg,P,0, (2) MgPO,

(3) Mg,P,0, (4) MgP,O,

Arrange the following compounds in increasing
order of their dipole moment:

HBr,H, S,NF,and CHCI,

(1) NF, <HBr <H,S<CHCI,
(2) HBr <H,S< NF, <CHCI,
(3) H,S<HBr < NF, < CHCI,
(4) CHCI, <NF, <HBr <H.,S

Consider the given figure and choose the correct
option:

Activated complex

Energy

E 1

E, Product

Reactant

Reaction coordinate

(1) Activation energy of backward reactionis E, and
product is more stable than reactant.

(2) Activation energy of forward reaction is E, + E,
and product is more stable than reactant.

(3) Activation energy of forward reaction is E, + E,
and product is less stable than reactant.

(4) Activation energy of both forward and backward
reaction is E, + E, and reactant is more stable

than product.

52.

53.

54.

5S.

TH AGSH x m/s D I | A FHRT g, A
goldeid & A de-8Fell aeTasd UTd &RA B

o) wIe &1 9 w1 Be?

1840 X
D= @ T840
(3) 1840 x 4) x

FNRRM & e Afe d 21.9 % FNRERM, 27.8
% HRBRI 3R 503 % Ao 8 8, al
AT BT FIH AR G FIT BATT?

(1) Mg,P,0, (2) MgPO,
(3) MgZPZOZ (4) I\/IgPZ()4

fFr=tferRaa ATt &1 S91a faga omegel & dgd
PH H FaRed P

HBr,H,S,NF, 3R CHCI,

(1) NF, <HBr <H,S<CHCI,
(2) HBr <H,S< NF, <CHClI,
(3) H,S<HBr < NF, < CHCI,

(4) CHCI, <NF, <HBr <H.,S
QT MU R R faER BY 3R e fdded g:

Activated complex

Energy

E

E, Product

Reactant

Reaction coordinate

(1) "gg sifafsar &1 |fbaor ot g, § @R
SAE, AMMBRS B JorT # A ReR 2|
(2) 3 AffHar @ |k St g, +E, § 3R
ST, AMBRS B oI 3 Afdd ReR 7|
(3) 3 ffrar o wfkaor St g +E, § &R
IR, AHRES B ol § H7 ReR 7|
(4) 3T 3R U @1 Srfafhar &1 Afshaor ol
E, +E, 23R 3feR®, Icare & gar H

a1 RerR 2 |

Space for rough work
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56.

57.

58.

Match the Compounds (List-I) with the appropriate
Catalyst/ Reagent (List-1I) for their reduction into
corresponding amines.

List-1 List-IT
(Compound) (Catalyst/Reagent)
(a) t)‘ (1) NaOH (aqueous)
R -C-NH,
(b) ©/N<’: (i)  Ha/Ni
(¢ R-C=N (iii) LiAlHy, H,0
(d) o (iv)  Sn, HCI

N-R
0]

Choose the correct answer form the options given
below:

(1) (a)-(iid), (b)-(i1), (¢)~(iv), (d)-(1)

(2) (a)-(id), (b)-(iv), (c)-(iid), (d)-(1)

(3) (a)-(id), (b)-(1), (¢)-(iii), (d)-(iv)

(4 (a)-(iii), (b)-(iv), (¢)-(i1), (d)-(1)

For the following three reactions (i), (ii) and (iii)
equilibrium constants are given

(1) CO(g) +H,0(g) ==CO,(g) + H,(9); K,
(i) CH,(g) +H,0(g) = CO(g) +3H,(9); K,
(iif) CH,(g) +2H,0(g) ==CO, (g) +4H,(9); K,

Which of the following relations is correct?

(2 K1\jK_2: K3

4) K; =K;-K,

(1) Ks' Kz = I<12
3 K Ky =K,
Given below are two statements:

Statement-I: An element in the extreme left of the
periodic table forms acidic oxides.

Statement-I1: Acid is formed during the reaction
between water and oxide of a reactive element
present in the extreme right of the periodic table.

In the light of the above statements, choose the
correct answer from the options given below:

(1) Statement-I is false but Statement-II is true.
(2) Both Statement-I and Statement-II are false.
(3) Statement-I is true but Statement-II is false.
(4) Both Statement-I and Statement-II are true.

56. ARl (- DI SUDH  SORSD /B AD

57.

58.

(G-I & @ gaford Hifeg aife daged

TS H SRl U 8 9P |

List-1 List-11
(a) Ol (1) NaOH (aqueous)
R —C-NH,
(b) @A’“: (i)  Hy/Ni
() R-C=N (iii) LiAlH4, H.O
(d) 0 (iv)  Sn, HCI

N-R
e oy Y fadenl § 9 AL SR BT AIF DIV
(1) (a)-(iii), (b)-(id), (c)~(iv), (d)-(1)
(2) (a)~(iD), (b)-(iv), (¢)-(iii), (d)-(1)
(3) (a)-(i1), (b)-(1), (¢)-(iiD), (d)-(iv)
(@) (a)~(iii), (b)~(iv), (¢)-(ii), (d)-(1)
fferRaa = ifafeanait (i), (i) R (iii) & forw
(i) CO(g) +H,0(g) =CO,(9) +H,(9); K,
(i) CH,(g) -+ H,0(g) =CO(g) +3H,(9); K,
(i) CH,(g) +2H,0(g) == CO,(g) +4H,(9); K,
fefaRag & & @9 91 Feu IR 9
Reridl & for wET 87

D) KekI=K2 () KWK, =K,

G K, K, =K, ¥ K,=KK,

W <1 weF Ry Ty &

HYF-1: T ARV THeH a5 IR BT Uh o
AT SifATgS 99107 2 |

$HYH-II: AT ARVl H UdhaA IR IR HINE
el a9 & Sffeags iR Ul & 9=
SJfAfhaT & SR 3+l g4 2 |

SWRRH BAAT & 3MMald # A1 QU MY fadwed &
| el SR BT FId_ DI

(1) BUA-1 3T B A HUF-11 I B |

(2) BUF-1 3R FUFT- ST B NI ¢ |

(3) FHUF-1 T & oAb HIA-11 3T ¢ |

(4) T BUF-1 IR HIA-11 T & |

Space for rough work
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59.

60.

61.

62.

Given below are two statement:

Statement-I: Nitrogen, sulphur, halogen and
phosphorus present in an organic compound are
detected by Lassaigne's Test.

Statement-II: The elements present in the
compound are converted from covalent form into
ionic form by fusing the compound with Magnesium
in Lassaigne's test.

In the light of the above statements, choose the
correct answer from the options given below:

(1) Both Statement-I and Statement-II are true
(2) Both Statement-I and Statement-II are false
(3) Statement-I is true but Statement-1I is false
(4) Statement-I is false but Statement-II is true

The rate constant of a first order reaction is
10°minat 27 C. The temperature coefficient of
this reaction is 2. The rate constant at 17° C will be:-

(1) 10 min™
(2) 5x10* min™
(3) 2x10° min™*
(4) 10%min™*

What is the potential of the cell containing two
hydrogen electrodes as represented below?

Pt/H, (g)|H" (10" )M || H'(0.001M) H,(g)|Pt

(1)-0.295V
(2)-0.0591 V
(2)0.295V
(4)0.0591 V

Which of the following solution doesn't obey
Raoults law :

(1) n-Hexane & n-Heptane
(2) cCl, &CHCI,
(3) ccl, &sicl,
(4) All are correct

59.

60.

61.

62.

K |1 pd feu v &

HA-I: U6 FEAG e § Al Aggo,
AohR, BT 3R BRWBING BT TdT o= TRIeTor
eI fohar ST 2|

SYA-ILAINS H AIS[E dc@l DI oA & qRIefoT
# HRRE & 91 e Bl TR FedaIoid
Y I e wy & aRafdd fear Sar 21

IR AT & 3MAld H, 7 fu U fApeat &
I FE SR BT I DI

(1) TH BUF-1 IR HUH-11 T & |

(2) HUF-1 R BUA-11 ST & 3T B |
(3) BYA-1 TF © Af HUA-11 3 B |
(4) BUF-1 3T ® b BUA-11 I B |

e dife IfAfhar &1 ¥ ReRid 27°C W
10° min™ B | 39 AMfHAT &1 AmgH= ond 2 7,
qr 17°C W & ReRrid 8-

(1) 10 min™*
(2) 5x10* min™
(3) 2x10° min*
(4) 102 min™*

A SRIY SIgAR &I BISSIe goidgle gh Aol
1 fa9a @1 sAT?

Pt|H, (g)|H" (10*)M [|H" (0.001M)|H, (g)|Pt

(1)-0.295 V

(2)-0.0591 V.

(2)0.295V

(4) 0.0591 V

fr=faRaa & | o 91 faemT I=eed Fad &
Tl 8l &l &

(1) n-Hexane 31X n-Heptane

(2) CCly 3R CHCls

(3) CCl4 3R SiCly

4) ft & &

Space for rough work
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63.

64.

65.

66.

Based on following thermo chemical reaction: -
H,O(g) + C(s) - CO(g) + H, (g); AH =131KJ

CO(9) + %Oz(g) — CO,(g9);AH =-282KJ

H,(6) +50,(9) — H,0(9); AH = -242KJ

C(s)+0,(g) > CO,(9); AH =xKJ
The value of x will be

(1)-393 KJ (2)-655KJ
(3) F393 KJ (4) +655 KJ
Given below are two statements:

Statement-I: Corrosion is an electrochemical
phenomenon in which pure metal acts as an anode
and impure metal as a cathode.

Statement-II: The rate of corrosion is more in
alkaline medium than in acidic medium.

In the light of the above statements, choose the
correct answer from the options given below:

(1) Both Statement-I and Statement-II are false
(2) Statement-I is false but Statement-II is true
(3) Both Statement-1 and Statement-II are true

(4) Statement-I is true but Statement-II is false

A solution of aluminium chloride is electrolysed for
30 minutes using a current of 2 A. The amount of the
aluminium deposited at the cathode is .[Given:
molar mass of aluminium and chlorine are 27 gmol™

and 355gmol*respectively, Faraday constant
=96500Cmol ™ ].

(1) 1.660 g (2)1.007 g

(3)0.336¢g (4)0441 g

Which of the following electronegativity order is
incorrect?

(I) Al<Mg<B<N
(2) Al<Si<C<N
(3) Mg<Be<B<N
4) S<ClI<O<F

63.

64.

65.

66.

f=foRag S — YaRfae Ifffhar & 3R
R—

H,O(g) + C(s) - CO(g) + H,(g); AH=131KJ

CO(g) + %02 (g9) > CO,(9); AH =-282KJ

H,(9) +%Oz(g) — H,0(g); AH = -242KJ

C(s)+0,(g) > CO,(9); AH =xKJ
ATx BT A9 FT BII?

(1)-393 KJ (2) -655 KJ
(3) +393 KJ (4) +655 KJ
9 1 ®uA feu U €

DHUE-I; [ERYT U fIea IRIfTa ge § s

Y€ U1 U UATE 3R MG o1 DTS & v H
ST AR 2 |

DU-11: AR AETH D] AT H TR Jegd 4
TETRYT BT X D B o

SURRH HAFI B 3Tl H, I fau T fAdwedi d
A el ST BT a9 DI

(1) -1 IR HYF-1I T AT & |

(2) HIA-1 T & b HU-Il T &

(3) HUA -1 AR FUF-II I I &

(4) BUF-1 G § AT HUF-11 3 &

UM deRIge @ U fderdd & 2 A fagd
gRT &I ST $Rdb 30 e & foy faegdipa
o SIar T | ders # S TR @ A
R 27 (TRHIFTH IR FARA & AR G

B 27gmol™* 3R 355gmol™ & BRIS ReR(d
= 96500C mol ].

(1) 1.660 g () 1.007 g

(3)0.336 g (4) 0.441 g

ffoaRad & & @4 1 fagawear w9 Tod 872
(1) Al<Mg<B<N

(2) AI<Si<C<N

(3) Mg<Be<B<N

4) S<ClI<O<F

Space for rough work
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67.

68.

69.

Given below are two statements.
Statement-I: CH;—O-CH>—Cl will undergo Sl
reaction though it is a primary halide.

CH,

|
CH,-C—-CH,-Cl _.
5= ¢ ,—Cl,

Statement-I1: 1l not

CH;
undergo Sn2 reaction very easily though it is a
primary halide.

In the light of the above statements choose the most
appropriate answer from the options given below:

(1) Statement-I is incorrect but Statement-II is
correct.

(2) Both Statement-I and Statement-I1I are incorrect.

(3) Statement-I is correct but Statement-II is
incorrect.

(4) Both Statement-I and Statement-II are correct.
Given below are two statements:

Statement-I: One mole of propyne reacts with
excess of sodium to liberate half a mole of H, gas.
Statement-II: 4 gram of propyne reacts with
NaNH, and liberate NH, gas which occupies 224
mL at STP.

In the light of the above statements, choose the most
appropriate answer from the options given below:

(1) Statement-I is correct but Statement-II is
incorrect.

(2) Both Statement-I and Statement-II are incorrect.

(3) Statement-I is incorrect but Statement-II is
correct.

(4) Both Statement-I and Statement-II are correct.

The incorrect statements regarding geometrical
isomerism are:

(a) Propene shows geometrical isomerism.

(b) Trans isomer has identical atoms/groups on the
opposite sides of the double bond.

(c) Cis-but-ene has higher dipole moment than trans-
but-2-ene.

(d) 2-methylbut-2-ene
isomers.

shows two geometrical

(e) Trans-isomer has lower melting point that cis
isomer.

67.

68.

69.

9 Q1w Ry v E |

$F-1: CH;-O-CH,—Cl Sx1 31fhar ovar 2
STafe I8 T wfie 2oss 2 |

CH;

SY-11: CHV? —CH,-Cl , Sn2 Srffhar ggd
CH;

AN ¥ A8l FRal &, oidfd I8 Udb WAfd

2SS ¢ |

SRIG HAA © 3MMelid H A Uy 71U fawear #

A AR SUH SR BT FIT DI

(1) BUF-1 TTAd & AfbsT HUH-11 LT R |

(2) HF-1 3R HAF-II I TeAd 2 |

(3) HYA-1 eI & tfh HUF-11 Teid & |

(4) BUF-1 AR HUF-11 3T T 2 |

I 1 HYE fau v g

PHUF-1: U189 BT TP Aled ASTH B BT &

A1 AMMHAT D T A H, I Feh b=all

2l

DY-11: 4 gram, PIIEE| NaNH, & a1y rfAfehar

HRAT & 3R NH, 19 & &1 8, S STP W

224 mL AT BRAAT B |

SRRH HAFT P 8Telld H, I fou T fAdedi |

A I IUYTH STR DI AT DIST:

(1) HF-1 AT & <fpd HH-11 Teld 2 |

(2) HF-1 SR B I Tl 2 |

(3) BUA-I TAd & b HUH-1I T & |

(4) BUA-1 R HUF-11 FT H&T 2 |

ST FHEagddl & |6 | Tod HAF &

(a) UM A FHGadr BT <2l 2 |

(b) oI AHIGIE! H fgamey & famia fazn § 99+
URHTY] /HE BN © |

(c) Cis-but-ene H trans-but-2-ene &I ot T H 3=

faga amepl 8 7 |
(d) 2-methylbut-2-ene &1 AT AHIGIAT Bl
ENIGIES

() Trans-THATGIT BT TP, cis TAEGIT H HH

BT B |

Space for rough work
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70.

71.

72.

73.

Choose the CORRECT answer from the options
given below:

(1) (a), (d) and (e) only

(2) (¢), (d) and (e) only

(3) (b) and (c) only

(4) (a) and (e) only

Which of the following solutions has a pH exactly
equal to 8 ?

(1) 10* M HCI solution

(2) Solution containing 10 M H* Ion
(3) 2x10°° M Ba(OH), solution

(4) 10* M NaOH solution

A current of 2.0 A is passed for 5 hours through a
molten metal salt deposits 22.2 gm of metal [At. wt.
=1771. The oxidation state of the metal in the metal
salt is :

(1) +1
2)+2
3)+3
(4) +4
Decreasing order of —I for following will be?

D
[—CN, —~CHO,~NH,,~CH, — NOZ}

®
(1) =NH; >-CH, -NO, >-CHO > -CN
@
(2) =NH; >—-CN >-CHO >-CH, - NO,
@D
(3) -CN>—-NH, >-CHO>-CH, - NO,
D
(4) -CH, —NO, >-~NH, >-CHO >-CN
Which is most stable carbocation?
@
(1) CH,-CH,
@
@ (CH,),C
(&)
(3) CH,-CH, -CH,

(4) CH,

70.

71.

72.

73.

A T 7Y fadenl # | HE SR BT TIH BINTT:
(1) B9 (a), (d) 3R (e)

(2) B (c), (d) 3R (e)

(3) BT (b) IR (c)

(4) DI (a) 3R (e)

frferRaa & 9 foa e &1 pH S 8 &
IR BIAT 87

(1) 10 M HCI fder=

(2) 10 M H* 3mg gad fdera

(3) 2x10° M Ba(OH), fdera=

(4) 10° M NaOH fdea=

fUae gU a1 & T9U & AEgH W 2.0 A B URI
5 8¢ ® forg garfed & o &, o 222 aW
g7 ST B 8 [At. wt. =177 ] &7g &avT ¥, &1g
B SATARITBRUT STARAT FIT &7

(1) +1

() +2

(3)+3

(4) +4

79 & ford -1 &1 gcar A a1 8RT?

D
[—CN,—CHO,— NH,,~CH, — NOZ}

@
(1)-NH, >-CH, -NO, >-CHO>-CN
®
(2) —-NH, >-CN>-CHO>-CH, - NO,
@
(3) CN>-NH, >-CHO>-CH, - NO,

@
(4) -CH, =NO, >-NH, >-CHO >-CN
99 ReR Prafder &I a1 87

@))] CH3—8H2
(2) (CH,),C?
(3) CH, -CH, —8H2

(4) CH,

Space for rough work
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74.

75.

76.

Red hot Fe tube

(B) CH,—CH,~CH,—Cl ’C)\

Anh AICI

CHI,—25(A)

A

What will be final major product (C) in given
reaction :

(M @
CH,CH,CH,

@) @
CH-CH,

3) cH,

CH,
4)

Give reactivity order of following towards EAR?

OCH,

O 0 o -

(11T (IV)

() I>0>1>1V
QUI>01>1v>1I
B3)Iv>1I>1I>1
@GHU>IV>11>1

_ _ _ Alc. A
CH, |CH B B koH/a (Major product)

Cl
A—5i5—B
True statement is :-
(I) A>CH,=CH-CH, —CH,
A—CH,=C-CH,
&
(3) B—~>CH, - COOH

)

(4) B—>CH, —CHO

74.

75S.

76.

CHI,—22 >(A)

A

& 73 afwfsan # <iftm o SaTe (C) Fr BT

CH,CH,CH,
(2) :

CH-CH,

o
3)

CH,
“4) :

ﬁwﬁEARzﬁaﬁmﬁﬂwwaﬁTﬂ—

Red hot Fe tube ( CH;3;-CH,-CH,-CI (
B)—Zmac——(C)

Anh AICI

OCH,

SINS§ eQ™

(11T (IV)

() I>0>11>1V
@UI>1r>1v=>1I
@3) IVv>1>1I>1
@U>1v>11>1
Alc. A
Chis _|CH NN (=T 3T9)
Cl

A— 5B
ql A AT & —
(1) A—CH, =CH—CH, —CH,
A—CH,=C—CH;,
&
(3) B—CH, —COOH

2

(4) B—>CH, —CHO

Space for rough work
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77.

78.

79.

Find the major product of following reaction:

e
CH,-C-CH=CH,—"9 (Major product)

CH,

(1) CH, (IZ (IBH CH,
CH, Cl
) CHS—(IS—CHI—CHE—CI
CH,
(IZI
(3) CH-C— CH-CH,
CH, CH,
CH,-C—CH,—CH,
A
Compare the Rate of ESR

O°Na* NH, ' CH, Cl
I 2 iy £

(1) 1>2>4>3  (2)1>2>3>4
(3)2>1>3>4  (4)1>4>3>2

Which Ether can not be prepared by Williamson

ether synthesis:

O-CH;
(1)

) >7O - CH3
3) /\0/%

4) @O+

77.

78.

79.

FRefeiRad srfAfshar &1 s Saare grm—:
P

CH,-C-CH=CH,—"% (&1 IdI<)
CH,

CH,

(1) CH1(:3 (IZH CH,
CH, Cl1

(2) CH.,—(II—CHZ—CH:—CI
CH,
Cl

A3) CH3—¢— t.l’,‘H—CH,
CH, CH,

CH,C—CH,—CH,
QL5

4 # ESR &1 <X &I g1 diforR—

| 2 3 4
(1) 1>2>4>3  (2)1>2>3>4
(3)2>1>3>4 (4)1>4>3>2
fafera e $oR YU ERT $I9 AT 2R IR
TEI fhar ST Fhr @

O-CH;

(1)

o >—o — CH,

O
3)

o~
“ @

Space for rough work
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80.

81.

82.

83.

84.

8s.

Which of the following reaction will give primary
alcohol as a major product:

(1) HCHO +CH,Mgl— 242,

(2) CH, ~CHO +CH,Mgl—2%2_,

(3) CH,COCH, +C,H,Mgl— @,

(4) CHs —(|:H—0H+CH3Mg|M>
CH,

Denaturation of protein leads to loss of its biological
activity by :-

(1) Formation of amino acids

(2) Loss of primary structure

(3) Loss of both primary and secondary structures
(4) Loss of both secondary and tertiary structures
Identify R configuration:

COOH
(2)
CH,OH
COOH
CH,OH CH,

Which of the following is most stable in aqueous
solution:

(1) Cr* @) Cr?
(3) Cr*? (4) Cr"

In a hydrogen atom, which orbital is higher in energy
than a 3s-orbital?

(1) 2s (2)3p
3) 3d (4) 4s

Average oxidation state of sulphur in Na,S4O¢ will
be-

(s
3) 6

(2) 5/2
(4)4

80.

81.

82.

83.

84.

85.

foreferRad o o oI It ifAfshar werfie Tepiga
B T TG SATE & I H ARH 2?

||HO

(1) HCHO+CH Mg|—>
(2) CH, —CHO + CH Mgl —2"°

(3) CH,COCH, + C,H,Mgl— &,
4) CHs _|CH — OH + CH,Mgl —@H:0

CH,

e & fagpdiaxer | s9@ Sifde wiafafer |
fAefoRad g 81 8l 8-

(1) 3T 3r7eT &1 AT

(2) "reAffes EREAT BT JhAT

3) wrerfies &R fgdas < Feammsil &1 e
(4) fgd® iR T Sl daRl &1 JaHam
R AT @1 ugar difori—

COOH
(2)
H, CH,OH
COOH
CH,OH

ﬁw%@ﬁﬁﬁﬁﬁmﬁwﬁwm
W 2

(1)-Cr* (2) Cr

(3) Cr' (4) Cr's

BISQIo URHIY] ¥, DI A HeD 3s-PeD DI
i1 | it H SIS BT 27?

(1) 2s (2)3p

(3) 3d (4) 4s

Na:S406 H TBR Bl AT IITRITBROT TR AT
BrfY?
(1 s
(3) 6

(2) 5/2
(4)4

Space for rough work
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86. Standard entropies of X,,Y,and X,VY,are 80,20and | 86. X,,Y, 3R X,Y, & o A& TdT HHIT: 80,20

30JK " mol* respectively. 3R 30K *mol™ ¥, dr
For the reaction X, +2Y2 = X,Y;;AH =-40KJ to afafhar X, +§Y2 = X,Y,;;AH=—-40K) & fori
be at equilibrium, the temperature should be I W BH b foru, a9 fhd=m ST TR
(1) 500 K (2) 750 K (1) 500 K (2) 750 K
(3) 1000 K (4) 1250 K (3) 1000 K (4) 1250 K
87. Which one of the following compound will given | 87. f=foifRgad & ¥ &= &1 I HVZ arfafear
HVZ reaction: TP
COOH COOH
(1)
(1)
(2) HCOOH ) HOOOR
s CH,
. S I -
@) M3~ § - COOH CH; - C — COOH
CH, (©) RN
: CH,
CH
4) ;e ) CH,

_CH- |
CH, - CH—COOH CH, — CH — COOH

88. 88.
MgBr MgBr
(i) CO, ®) N €O
Oy LI
In the above reaction product ‘P’ is: SRR Afifr F S P
CHO CHO .
GO COOH
2 2)
OH OH
3) 3)

H—C-C.H I
4) CeHs—C-CgHy 4) C¢Hs—C—C4Hj

Space for rough work
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89.

90.

CO +HCl, , Conc.NaOH._ ‘
@ ZnCl, A A B+C

Then, product B and C are:

(1)@CH2COOH and@
o @ " @CHZOH

and CHCIl;

CH,-OH

COONa

CHO

Which of the following does not react with
NaHSO3?

(1) CHsCOCH
(2) CH;CHO
(3) CH;COC,Hs
(4) PhCOCH;

89.

90.

CO +HCl, , Conc.NaOH_ <
@ ZnCl, A A B+C

ar, fe, S B @R C &

0 @CHZCOOH . @/CHZOH
o @ e @CHZ—OH

CHCI;

iR @(
fr=faRad & & dI9 NaHSO; & rer rfifshar
8l HRar =87

(1) CH;COCHj3

(2) CHsCHO

(3) CH3COC;Hs

(4) PhACOCH;

COONa

CHO

Space for rough work
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PART - 1l : BOTANY

91. Thereare _ megadiversity countries in the world. | 91. g1 i ggfAferdr arel < =

(1) 12 (2) 22 (1) 12 (2) 22

(3) 14 (4) 24 (3) 14 (4) 24
92. Which one of the following character cannot be | 92. <Y T\ Guacll gRT fA=forRaa & A HI—aT oferor

shown by the given pedigree? &I T9TT ST Hhdl 2?2

(1) Autosomal dominant (1) arferfy g

(2) Autosomal recessive (2) Sfefy arrd

(3) X-linked dominant (3) X—HgerT yTdl

(4) X-linked recessive (4) X—S8ei= SgTd
93. Mucor, Rhizopus & Albugo belong to the class 03, =Y TSI T g/msg//) By T 3 T @

(1) Phycomycetes e R

(2) Ascomycetes ) ;s

(3) Basidiomycetes (2)

(4) Deuteromycetes (3) afifs :
94. Match the following columns (4) s X

94, % ¥4I BT A BN
Column | Column 11 N A
Pl | Pl |
(A) Prokaryotic (i)  Green algae (A) MRS () = I
(B) | Agar-agar (i) = Brown algae (B) STIR—IMTR (i) 7 AT
2-8, Apical .. Blue  green (C) Z_B’W& < (iii) e B Aard
© flagella (i) algae :
. ) (D) BN (iv) ool Yaref

(D) | Fucoxanthin (iv) Red algae (1) (A)=(iii), (B)~(ii), (C)-(iv). (D)-(0)

(1) (A)-(iii), (B)-(i1), (C)-(iv), (D)-(1) (2) (A)-(iii), (B)-(iv), (C)-(i), (D)-(ii)

(2) (A)-(iid), (B)-(iv), (C)-(1), (D)-(i1) (3) (A)-(ii), (B)-(iv), (C)-(iii), (D)-(i)

(3) (A)-(ii), (B)-(iv), (C)-(iii), (D)-(1) 4) (A)-(ii), (B)-(iii), (C)-(iv), (D)-(i)

4 (A)-(ii), (B)-(ii1), (C)-(iv), (D)-(1) 95. ARRY B FHITHorTH 399 Fofged & wU fahae
95. Who considered the virus as the Contagium vivum EIEINS

fluidum?

(1) Louis Pasteur
(2) W. M. Stanley
(3) M. W. Beijerinek
(4) D.J. Ivanowsky

(1) ge R

(2) S=gTH A
(3) TH. Ty, dIGiRfd
4) S o ZaHEIED

Space for rough work
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96.

97.

98.

99.

Match the following columns

Column | Column 11
(A) Tetradynamous (i) Brassicaceae
(B) ' Epicalyx (i) = Fabaceae
(C)  Capitulum (iii) Malvaceae
(D) ;/ei)t(ii\lllstri)én (iv) Asteraceae

(1 (A)-(), (B)-(iii), (C)-(iv), (D)-(ii)
(2) (A)-(1), (B)-(iv), (C)-(iii), (D)-(ii)
(3) (A)-(i), (B)-(iv), (C)-(iii), (D)-(i)
@ (A)-(i1), (B)-(iii), (C)-(iv), (D)-(1)
Assertion: Maize grain is actually a fruit.

Reason: Pericarp is membranous and completely
fused with the seed coat.

(1) Both Assertion and Reason are true and Reason
is not the correct explanation of Assertion

(2) Both Assertion and Reason are true and Reason
is the correct explanation of Assertion

(3) Both Assertion and Reason are false
(4) Assertion is true but Reason is false

The coding strand of DNA has the nitrogenous base
sequence 5’ATTGCC3’. The sequence of the
primary transcript should be

(1) 5’UAACGG3’

(2) 3’AUUGCCS?

(3) 5’AUUGCES’

(4) 3’'UAACGGS’

Phloem parenchyma is absent in
(1) Vascular rays

(2) Monocot stem

(3) Dicot root

(4) Dicot leaf

97.

98.

99.

Dl | Dt 11
(A) CgTSIETE (i) SRy
(B) Tuftidferaw (i) o
(©) Pl (if) e
O) DR ) e

(1) (A)-(1), (B)-~(iii), (C)-(iv), (D)-(ii)
(2) (A)-(1), (B)~(iv), (C)-(iii), (D)-(ii)
(3) (A)(iD), (B)-(iv), (O)-(iii), (D)-(1)
(4) (A)-(i1), (B)-(iii), (C)-(iv), (D)-(i)
PYUT: HIPl BT ST IRAd § Th Bl 2 |

DR URPY fEreeilar & 3R g @8 A 4l Bic
P 7T Hel T 2|

(1) BUF IR HRUT &M IF & 3R BRI, HAF
P e ARAT Tl &

(2) BIF MR BRI T G 2 AR HRUT FHAF
D TS AT B

(3) BUT AR BRI I A &

(4) BT I & Wb DR ST B

DNA & ®IST s H ARcoiAd &R $HH
5’ATTGCC3’ I & | WIfAd geid &1 AgeHH
BT @M(2Y

(1) 5UAACGG3’

(2) 3’AUUGCCS’

(3) 5’AUUGCC3’

(4) 3’UAACGGS’

TArgH IvehrsHT fhed orjuRerd @

(1) Fag faxor

(2) TSI T 1

(3) e 1

(4) fgde= oot

Space for rough work
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100. Given below are two statements:

101.

102.

Statement-I: On the basis of position of
centromere, chromosomes are of four types.

Statement-1I: Different chromosome shapes are
observed in anaphase.

In the light of the above statements, choose the
correct answer from the options given below:

(1) Both statements are true

(2) Both statements are false

(3) Statement-I is true but Statement-II is false
(4) Statement-II is true but Statement-I is false

Choose appropriate option regarding given below
statements:

(i) Growth is measurable.

(i1) In developing organs like embryo, initial
growth is wusually arithmetic but later it
becomes geometric.

(iii) Formation ~of meristematic tissue from a
permanent tissue is called Dedifferentiation.

(iv) Geometric growth can be represented by L; =
Lo+ rt.

(v) Biomass increases if rate of photosynthesis is
higher than respiration.

(1) (i), (i1) and (v) are incorrect

(2) (i), (iii) and (v) are correct

(3) (i), (iii) and (iv) are correct

(4) (1), (i1) and (iv) are incorrect

What is incorrect regarding Mendelian Disorders?

(i) They are caused by an alteration or mutation in
a gene

(il) Haemophilia, Cystic fibrosis, Sickle cell
anaemia, etc are important Mendelian disorders

(iii) They may be autosomal or sex linked

(iv) Their pattern cannot be predicted through
pedigree analysis

(v) Usually, they also show pleiotropism
(1) 2-Correct, 3-Incorrect
(2) 2-Incorrect, 3-Correct
(3) 4-Correct, 1-Incorrect
(4) 4-Incorrect, 1-Correct

100.

101.

102.

I &1 FeE Ry MU &

FHUT—1: HSIRR @7 RIfA & IR TR I[ORF IR

TR & B 2 |

A1 TS § oRgE @ A= seR <9

ST B |

SWIh HHl & 3Merd H =i fay v fAdpeai o

A FE IR BT TI9 DIV

(1) T B wg &

(2) TH BUF NI &

(3) BUT-1 T & offh HAF—11 3T B |

(4) P11 I & Al BT JAI B |

A Ry U PoMl & Hey H QU [dbed Bl

I DI

(i) afg W AT 2

(i) gfeier o o yor o, wreifie gig SR
W HHIORII Bl © offbd 9@ H I8
SR &1 STl 2

(i) T WRN Has I farsaaes Sde & =i
®I fafades Fg1 91T © |

(iv) ST gfg B L= Lo + rt & UaRid fdar
ST b B |

(v) IS UHIY [T BF &% 399 o 31fH & ar
SI99R 98 ST © |

(1) (i), (ii) 3R (v) T &

(2) (i), (iii) 3R (v) T 8

() (ii), (iii) 3R (iv) T& &

@) (i), (i) 3R (iv) Ted &

HSferd ARl & IR § AT Tord 27

() 7 UH 9 H gRads A1 SARTAT & BRI
B ©

(ii) EFifeferar, RiRew wraR™, Read

, Ife wewget #efor e &

(iii) @ SrfeitfT srerar fofir A & Adhd §

(iv) demaell faveyor & Ared | SH9d Ued @l
Hfqsgarofl w1 & 57 Al §

(v) MR W, 9 ggwudm A1 fdEnd &

(1) 2—9g1, 3—Tefd

(2) 2—Terd, 3—¥=]

(3) 4—921, 1-7Terd

(4) 4—TTerd, 13981

Space for rough work
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103. According to Robert May the global species | 103. 3fad w9 & SR IRTe yonfaal & fafdear

diversity is about T &
(1) 1 million (2) 5 million (O 1 fafer= )5 fafer=
(3) 7 million (4) 9 million (3) 7 faforr (4) 9 fafore
104. What is the genotype of parents if blood group of el -
children is AB and O? 1o ?Gﬂwajl ET 3&:‘;13 AB S0 T -

(1) IAIBand I°1°  (2) IBI° and IBI®
(3) I*I°and IBI®  (4) I*I® and IBI°
105. Match the following columns

(1) IPBIIRICIC  (2) IBIC 3R IBIO
(3) IPI°IRIBIC  (4) IAIB 3R IBIO
105. 7= i &1 A &

Column i Column 11 . .
Pl | Pled 1
Autosomal :
(A) Phenylketonuria (i)  dominant fpTgafrergRar (i SIH T
disorder Q) O for
. ... Autosomal . offerlt  arywre
(B) Thalassemia (D) ocessive disorder (B)  Sreriifam (i) q
Colour ... X-Linked _ L X-ggerd
©) plindness (1) ecessive disorder (C) T gurteraT (L1) A
. X-Linked I X- A7)
Sickle-cell 7 . . Jeel™ U
© i’ [ s 9 i, ) o

(D) (A)-(ii1), (B)-(i1), (C)-(iv), (D)-()

(2) (A)-(i1), (B)-(i1), (C)-(iib), (D)-(i1)

(3) (A)-(i), (B)-(iv), (O)-(iid), (D)-(i)

(4) (A)-(iD), (B)-(ii), (C)-(1), (D)-(iii)
106. 91 w9l &1 A B

(1) (A)-(iid), (B)-(i1), (C)-(iv), (D)-(1)

(2) (A)-(i1), (B)-(i1), (C)-(ii1), (D)~(i1)

(3) (A)-(ii), (B)-(iv), (C)-(iii), (D)-(1)

(4) (A)-(i), (B)-(i1), (C)-(1), (D)-(iii)
106. Match the following columns

Karyotype Genetic disorder PR Wﬂaﬁlﬁ famm
o 5 A .
® 414+x0 (ii) g;rmrrlosme g 1‘5‘ *;i(; = (i) =T RigH
(C) 45+ XX OR (i) Turner’s 45+ XY (ii)) =T i
oy YR (1) (A)-G0). (B)-Gi). (C)-(i
(1) (A)-(0), (B)-(i1), (C)-(iii) (2) (A)-(ii), (B)-(i), (C)-(iii)
(2) (A)-(iD), (B)-(D), (C)-(iii) (3) (A)-(i), (B)-(iii), (C)-(ii)
() (A)-(1), (B)-(iid), (C)-(ii) (4) (A)-(ii), (B)(iii), (C)-(i)

(4) (A)-(iD), (B)-(ii), (C)-(1)
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107. Which is not correctly matched?
(1) DNA polymerase - DNA dependent DNA

synthesis

(2) Reverse transcriptase - RNA dependent DNA

synthesis

(3) Rho factor- Termination of translation

(4) Sigma factor- Initiation of transcription

108. Match the following columns
Column | Column 11
Site of Through the
(A) photolysis of (i) thylakoid
water membrane
Accumulation Inner Sl_Jrface of
(B) of B ions (if)  thylakoid
membrane
" Outer surface of
Reduction  of ... .
© NADP* (iii) =~ thylakoid
membrane
Transport of . Lumen of
(D) electrons (iv) thylakoid

109.

(1) (A)-(ii), (B)-(ii), (C)-(iv), (D)-(1)
(2) (A)-(iii), (B)-(iv), (C)-(1), (D)-(ii)
(3) (A)-(i1), (B)-(iv), (C)-(iii), (D)-(1)
(4) (A)-(i), (B)-(iii), (C)-(iv), (D)-(1)

Assertion: Endomembrane system includes- ER,
Golgi body, Lysosome and Vacuole.

Reason: Their functions are interconnected.
(1) Both Assertion and Reason are false
(2) Assertion is true but Reason is false

(3) Both Assertion and Reason are true and Reason
is not the correct explanation of Assertion

(4) Both Assertion and Reason are true and Reason
is the correct explanation of Assertion

107.

108.

109.

71 5 ¥ B A1 |El gAford T8l 87
(1) DNA UrefiRst — DNA R DNA HZeror
(2) Rast giafeest — RNA fik DNA d¥eryor

(3) Rho ®Rdh— 3IgdiaT bl FHAIA

(4) RITET PRB— YfTelad &1 YRH

i | i |1
ARTADISS
) 793 I Bt &
. : ARTADISS
(B) :.%m“ PTGy Rreed &
JMAR® A8
. SIBICEARS]
©) gﬁ%ﬁr PTGy Rreeh @@=
kS
©) oReee ™ o

(1) (A)-(iib), (B)-(i), (C)-(iv), (D)-(1)
(2) (A)-(iid), (B)-(iv), (C)-(1), (D)-(ii)
(3) (A)-(iD), (B)-(iv), (C)-(iii), (D)-(1)
(4) (A)-(i1), (B)-(iii), (C)-(iv), (D)-(i)

Fo: faffeaar a3 # wmfia & SemR, eoh
B, rgEad R RRGDT |

PR 39 BRI ATH H 9 g T |

(1) U AR HROT ST A 8

(2) BT A © fdhd HRUT I @

(3) HYUF IR BRI Ml A & IR BRI, HAF
B AL ARAT TE '

(4) BIF R BRI T T 8 AR HRUT FHAF
P TG IARAT B
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110.

111.

112.

113.

Match the following columns

Vascular bundle Structure
(A) Scattered (i)  Dicot roots
(B) Arrangedinaring (ii) Maize stem
Exarch and ... Monocot
© Polyarch Uiy Roots
: Sunflower
(D) Exarch and 2-6 (iv) stem

(1) (A)-(1), (B)-(iii), (C)-(ii), (D)-(iv)

(2) (A)-(1), (B)-(ib), (C)-(iii), (D)-(iv)

(3) (A)-(i1), (B)-(iv), (C)-(iii), (D)-(1)

4 (A)-(i1), (B)-(iii), (C)-(iv), (D)-(1)

Which one of the following pairs is not included in
the Kingdom Plantae of Whittaker’s System?

(1) Ferns & Mosses

(2) Bacteria & Lichens
(3) Algae & Bryophytes
(4) Dicots & Monocots

Statement-I: India has more
genetically different strains of Rice.

Statement-II: India has more than 1,000 varieties
of Mango.

(1) Both statements are true

(2) Both statements are false

(3) Statement-I is true, but Statement-II is false
(4) Statement-II is true, but Statement-I is false

Choose appropriate option regarding given below
statements:

than - 50,000

(i) In algae, fertilisation may be isogamous,
anisogamous or 00gamous.

(i) In Bryophytes, gametophyte depends on the
sporophyte for anchorage and nutrition.

(iii) Pteridophytes are first vascular plants.

(iv) In Gymnosperms, fruits are naked.

(v) Angiospermae is the largest group of plant
kingdom.

(1) (i), (i) and (v) are incorrect
(2) (i), (iii) and (v) are correct

(3) (i), (iii) and (iv) are correct
(4) (i), (i) and (iv) are incorrect

110.

111.

112.

113.

o e .
(A) faww gu () fedeEh g
B) o RN p—
©)  Gefamas (iii) ol

(D) v @R 26 (iv) W{Rsﬂa o

(1) (A)-(1), (B)-(iii), (C)-(ii), (D)-(iv)

(2) (A)-(1), (B)-(i1), (C)-(iid), (D)-(iv)

(3) (A)-(ii), (B)-(iv), (C)-(iii), (D)-(i)

(4) (A)-(ii), (B)-(iii), (C)-(iv), (D)-(i)

fefoRad | | @19 |1 g feca woTell & urey
STd H e T8 8?

(1) & 3R 71 9

(2) SFIRAT AR ATSHA

(3) 3aTe 3R TABIZCH

(4) o3 &R vHdioI=

PYT—I: IRT H A B 50,000 H AfAD A RIS
WU | A gonfa 2

HIF—II: TRA H MH &1 1,000 F 1fdd fe 2|
(1) SFf B T 8

(2) SFl BUYT NI B

(3) BUT-] T &, oI HIA—I1 3 2 |

(4) AT TF &, dfhT A1 3T B |

A QU U Al & Heg H UG fdbed dr

I HINTT:
FHGHHG!,  favagTe Al

() dara # FuEe
TSB! B Fhal © |

(i) IATBISCH H, JHADIGMS HEN IR YU &
fog Semefig W AR Eear 2 |

(iil) cRSIwTSTH Yo Haedr urey € |

(iv) o= # et 7 BT € |

(v) URTIRGH U180 STd &1 99 991 998 © |

(1) (@), (i) 3R (v) Tefcl &

) (), (iii) 3R (v) F&T &

(3) (ii), (iii) 3R (iv) F&r &

4) (i), (i) 3R (iv) Terd &
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115.

116.

117.

114. Agaricus, Ustilago & Puccinia belong to the class

(1) Phycomycetes
(2) Ascomycetes
(3) Basidiomycetes
(4) Deuteromycetes

Statement-I: Some organisms can change their
phenotypes according to the changing environment
or developmental stage.
Statement-1I: Buttercup plant, Coriander, cotton
etc. show heterophylly.
(1) Both statements are true
(2) Both statements are false
(3) Statement-I is true but Statement-11 is false
(4) Statement-II is true but Statement-I is false
Match the following columns w.r.t. cell cycle
Phase Events
1) G (i)  Decision of cell division
2 S (i)  Replication of DNA
... Movement of
(3) | Go (1) chromosomes
y Differentiation and
@ M (iv) maturation of cells
(1) (1)-@), (2)-G1), (3)-(iv), (4)-(ii1)
(2) (D-(iid), (2)-(iv), (3)-(1), (4)-(i1)
(3) (D)-(i), (2)-(iv), (3)-(iii), (4)-(1)
4) (D)-(i), (2)-(1i1), (3)-(iv), (4)-(1)
Choose the correct sequence of events during

development in a plant body

(1) Differentiation — —  Dedifferentiation  —
Redifferentiation

(2) Dedifferentiation —  Redifferentiation —
Differentiation

(3) Differentiation = —  Redifferentiation  —
Dedifferentiation

(4) Redifferentiation —  Dedifferentiation —
Differentiation

114.

115.

116.

117.

3RIR®, SRt dom ufdafar fed @ 4
(1) BEHHERIES

(2) TERATSRISS

(3) dRifSsigRicI

(4) SECIHASRISS

HUT—1: FH SId Feold YR AT AP
IROT & ATAR AU AETUYRRY Pl I8l Fdd @ |

®A-II: §cxbU UGy, Hfan, died  anfe
fawmooar feam £ |

(1) T B wg &

(2) TFI HAUF IRTA &

(3) BAT-1 TSI & ffh HAF—11 3RTA B |

(4) BT TF & AT U1 3 2 |

PINTRT b b Fag H S=forRad w4l &1 Ao
PN —

TROT T3l
(1) G, (I) grlclﬁi;l[cbl [dHTSTT ol
(2 S (i) DNA @I ufrmf
(3) Go (i) TR @B Y
@ M ) Rt R

(1) (1)-(0), 2)-(iD), B)~(iv), (4)-(iii)

(2) (D)=(1i1), (2)-Gv), (3)-(1), (4)-(i1)

(3) (1)-(ii), (2)-(iv), (3)-(iii), (4)-(1)

(4) (D)=(ib), (2)-(1i1), (3)-(1v), (4)-(1)

qeUdH H A& & QR gl & |el Hd
ElN

(1) forre — fafavies — gAfdae

(2) fafdrred — gAfdwed — e

(3) faded — gAfdde — fafqwe

(4) gAfdeT — fafdsreT — fase
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118.

119.

120.

121.

122.

Assertion: Kreb’s cycle is also called TCA cycle.

Reason: First stable product of Kreb’s cycle is
Citric acid, which is a tri carboxylic acid.

(1) Both Assertion and Reason are false
(2) Assertion is true but Reason is false

(3) Both Assertion and Reason are true and Reason
is the correct explanation of Assertion

(4) Both Assertion and Reason are true and Reason
is not the correct explanation of Assertion

Assertion: Ethylene can be a growth promoter or
inhibitor.

Reason: It is a gaseous plant hormone.

(1) Both Assertion and Reason are false

(2) Assertion is true but Reason is false

(3) Both Assertion and Reason are true and Reason
is not the correct explanation of Assertion

(4) Both Assertion and Reason are true and Reason
is the correct explanation of Assertion

Ploidy of embryo and endosperm in a hybrid
produced from a 2N male and 4N female plant,
should be

(1) 2n and 3n respectively
(2) 3n and 5n respectively
(3) In and 3n respectively
(4) 2n and 5n respectively

A tall Pea plant having purple flowers was crossed
with a dwarf Pea plant having white flowers and
produced tall plants with purple flowers and tall
plants with white flowers in equal proportions The
genotype of parents is

(1) TTRrx TTrr - (2) TtRR x ttRr
(3) Tt(Rrx TTRr ~ (4) TTRr x ttrr

An individual with cd genes is crossed with wild
type ++. On test crossing the F; hybrid, the
progenies were: +c 25, +d 25, cd 225 and ++ 225.
What is the distance between ¢ and d genes?

(2) 225 map units

(4) 10 map units

(1) 25 map units
(3) 50 map units

118.

119.

120.

121.

122.

PHU: BHed I BT TCA Ih HT Hel SIal 2 |

PHROT: Hsd dh BT Ugoll ReR I Asfed s
g, Sl T gTS Preifdoiiord URTS B |

(1) U 3R BRI ST 3T &
(2) BIT T T AT BRI A ©

(3) U IR BRU SHEI I g AR BRI HAA
DI L AT ®

(4) PAF IR BRI T T € AR BRI, BT
D e ARAT TE 7

DU YA U gfg ISAURD AT ARS8 Fhell

g |

PR I8 Uh I Uy M 2 |

(1) BIT AR FRT ! AT

(2) BT T B AfhT BRUT 3 &

(3) U SR HRU Tl TF & IR BRI, HIH
%I el ARAT el &

(4) U R PRI TF T © AR BRI, HAA
DI T AT &

2N R 3fIR 4N HET UIeY ¥ Srfed dax H 3o

3R Yoy &1 IRrEr g @y

(1) ¥ 2n 3R 3n

(2) ¥ 3n 3R 5n

(3) ¥ 1n 3R 3n

(4) SHHI: 2n 3R 5n

S Hell dTcl U @d Hex & UlY Bl dha Hell

drel a9 Hex & UiE & A1 Wa)uT fhar T 3iR

S Bl & T A UiE iR HHM SruTd H

AHE Bl & AT & e S fby Y| Uq®

BT ST T 87

(1) TTRrx TTrr — (2) TtRR x ttRr

(3) TtRrx TTRr  (4) TTRrx ttrr

UH cd S el SId &I FHR0 a9 YR ++ &

arer fhar Tar €1 F) AR B OOl RO B

TR FAfT +c 25, +d 25, ¢d 225 R ++ 225 UTd g3

al ¢ iR d 59 & dr g &7 g ® 7Y

(2) 225 map units

(4) 10 map units

(1) 25 map units
(3) 50 map units
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123.

124.

125.

126.

127.

Ratio obtained in a trihybrid cross of polygenic
inheritance is

(1) 1:4:6:4: 1

(2) 9:3:3:1

(3) 1:6:15:20: 15:6: 1

(4) 27:9:9:9:3:3:3: 1

While analysing the nucleic acid of an organism, a
total number of 5386 nucleotides were found, out
of which the proportion of different bases were:
Adenine = 30%, Guanine = 15%, Cytosine = 35%,
Thymine = 20%. Considering the Chargaft’s rule,
it can be concluded that

(1) Itis a single stranded RNA

(2) Itis a single stranded DNA

(3) Itis a double stranded DNA

(4) Itis a double stranded RNA

Imperfect fungi are classified into which class?

(1) Phycomycetes  (2) Ascomycetes
(3) Basidiomycetes (4) Deuteromycetes

Match the following columns

Column | Column 11
(A) Porphyra (i) AnAlga
(B) Sphagnum (i) A Bryophyte
(C) Salvinia (iii) A Pteridophyte
(D) Ginkgo (iv) A Gymnosperm

(1) (A)-(iii), (B)~(ii), (C)-(iv), (D)-(1)
(2) (A)-(iii), (B)-(iv), (C)-(1), (D)-(ii)
(3) (A)-(1), (B)-(i1), (C)-(iid), (D)-(iv)
(4 (A)-(1), (B)-(iii), (C)~(iv), (D)-(i1)
A type of life cycle in which gametophyte is

dominant, thalloid & independent and non-vascular
sporophyte depends on the gametophyte is called

(1) Haplontic
(2) Diplontic
(3) Haplo-diplontic
(4) Diplo-haplontic

123.

124.

125.

126.

127.

Igol dRTIhH & PR FHIoT H U U
7 8?

(1) 1:4:6:4:1

(2) 9:3:3:1

(3) 1: 6:15:20: 15:6: 1

(4) 27:9:9:9:3:3:3: 1

UEh Sid & Gfdeid TRIS BT [Ieelvor wrd 9
Bl 5386 gfderiergs g Y, f5H A faf=
R B AU USHA = 30%, @ = 15%,
AERT = 35%, ABMAT = 20% AT | IRAG &
| o1 e d @d gy, s ey Mepren o
ol g b

(1) I8 Udhel FHeferd RNA &

(2) I8 Uhd Heford DNA &

(3) I fggsferd DNA 2

(4) T fg@sfara RNA B

et wad B fbw a7 # affopd foam wram 27
(1) BEPHERIENT (2) WHHASRICIS

(3) IRIFSMHIRRIEISI(4) SIMRRIES
T a4l &1 e &

i | Bic 11
(A) URBIS (i) TS ard
(B) v (i) TP IAIBST
(C) wrfeafar (iii) TPH <ReMwrsC
(D) fSiar (iv) T mgddroh

(1) (A)-(ii1), (B)~(ii), (C)-(iv), (D)-(1)
(2) (A)(ii1), (B)~(iv), (C)-(1), (D)~(i1)
(3) (A)-(1), (B)~(ii), (C)-(iii), (D)-(iv)
(4) (A)-(1), (B)~(ii1), (C)~(iv), (D)-(ii)
JTqIAT IR WA BIAT B qAT IAATE!
JISMUIETE, JHPIGME IR R &=ar & df S9

X A

RIT HET ST 87
(1) srford

(2) faafora

(3) srfora—fgford
(4) fgpfora—sryford
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128.

129.

130.

131.

Choose
pyramids

(1) The pyramid of biomass in a sea, is generally
upright

incorrect statements w.r.t. ecological

(il)) Number of Fishes is much higher than
Phytoplanktons

(iii) Usually, pyramids are inverted with some
exceptions

(iv) Producers are present at the base of a pyramid
(v) Top consumers occupy apex of the pyramid
(1) (1), (i1) & (iii) only

(2) (1), (iii) & (iv) only

(3) (i), (iii), (iv) & (v) only

@ (@), (i), (i), (iv) & (v)

From which one of the following mRNA, a

polypeptide chain with 3 amino acids will be
produced?

(1) >AUGCGGUAA3’
(2) 3’AUUUGAGUGS’
(3) 5’AUGGCCUGG3’
(4) 3’UAACGGAUGS’

Assertion: Bivalents appear first time in the
zygotene phase of prophase-I.

Reason: Synapsis occurs in this stage of meiosis.

(1) Both Assertion and Reason are true and Reason
is not the correct explanation of Assertion

(2) Both Assertion and Reason are true and Reason
is the correct explanation of Assertion

(3) Both Assertion and Reason are false
(4) Assertion is true but Reason is false

Choose the correct sequence of the DNA
fingerprinting
(i) Blotting
(ii) Separation of DNA fragments by gel

electrophoresis
(iii) Isolation and purification of DNA
(iv) Digestion of DNA by restriction endonucleases

(v) Detection of hybridised DNA fragments by
autoradiography

(vi) Hybridisation using radioactively labelled
VNTR probe

128.

129.

130.

131.

gRRerfas fIRfie & ddy 3 Told wod gv
(i) W% # SI9IR &1 fRife Amgd: fem g
g

(ii) HBferdl @1 W& UreUwad ol ga-l H agd

SIBCa
(iii) {B 3fUdral & ATl FHIR R fRIHS o
gId 8

(iv) STTEd U fORIfAE & QMR W Hivig 8

(v) 5= IuHrhT iRIfAe & oY oR 91U 9I1d &

(1) ®ad (i), (ii) 3R (iii)

(2) @ad (i), (iii) 3R (iv)

(3) ®ad (ii), (iii), (iv) 3R (v)

(4) &g (), (ii), (iii), (iv) 3R (v)

frferRaa # 9 f&9 mRNA 9, 3 AT URTS

qieil UIlUCISS 2@ell BT Scura- fhdr Sg?

(1) 5’AUGCGGUAA3’

(2) 3’ AUUUGAGUG5’

(3) 5’AUGGCCUGG3’

(4) 3’'UAACGGAUGS’

HY: dIsdeic Ugell IR WHol—1 & SIS ROl

# fewrs <a g

grzvr: SERTAfAMSH & 9 =Rl # Rmfeas gar

I

(1) BIF IR HRU SF1 A & 3R BRI, HAF

D TE AT TSl B

(2) HUF IR BRI QG I & AR BRI HIH
B AL AT

(3) BUF AR BRI QI AT &

(4) BT A © Afhd HRUT AT ©

DNA IR &1 |e o9 g

() =T

(ii) oI dgdPUTET §RI._ DNA & Tdhsl &l
GG

(iii) DNA T YradhoT 3R gfgadhor

(iv) Ufdee JSgaeiltal §RT DNA &7 91ed

(v) JACERISIRTHT §RT HHRT DNA TaHs! BT udl
SRIGH

(vi)FSORHET ol VNTR Ul &1 STIRT &R
HpROT
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132.

133.

134.

135.

(1) 1, vi, iii, i1, iv& v

2) i, v, iii, 1, iv & vi

(3) 1, ii, 1ii, iv, v & i

(4) iii, iv, i, i, vi& v

Usually, how much energy is transferred from one
trophic level to another trophic level?

(1) 10 Percent (2) 50 Percent

(3) 70 Percent (4) 90 Percent

Choose the correct option regarding chromosomal
disorders?

(1) They are caused by an alteration or mutation in
a gene.

(il)) They may occur due to a change in
chromosome structure or number.

(iii))One or more chromosomes or sets of

chromosomes can be increased or decreased.

(iv) Monosomy and trisomy are common cases of
aneuploidy.

(v) Thalassaemia is a quantitative
chromosomal disorder.

type of

(1) 2-Correct, 3-Incorrect
(2) 2-Incorrect, 3-Correct
(3) 4-Correct, 1-Incorrect
(4) 4-Incorrect, 1-Correct

Mesophyll tissue is differentiated into palisade and
spongy parenchyma in the leaves of

(1) Sunflower (2) Maize
(3) Onion (4) Garlic

Who proved that DNA replication in bacteria is
semi-conservative?

(1) Watson and Crick
(2) Jacob and Monad
(3) Meselson and Stahl
(4) Hershey and chase

132.

133.

134.

135.

(1) i, vi, iii, ii, iv 3R v

(2) ii, v, ii, i, iv 3R vi

(3) i, i, ii, iv, v 3R vi

(4) iii, iv, ii, i, vi 3R v

IMAR TR T Uil WR ¥ T8 Ul ®R W e

ol RIFIART &I STl 87

(1) 10 ufererd (2) 50 wfcrerd

(3) 70 wfcrera (4) 90 yfcrerd

Tord Hadll fAeRi & Hag 3§ 981 fAdhey &1 a9

BHIRTY?

(i) 9 TP o9 # uRads a1 SARTTT & HROT
B 3|

(ii) 9 TORLF W1 AT HT H URIAdT B HR]
g Ahd T |

(iii) T AT ST R AT RGN S FI Bl
ST IT TerAT Sl Fobell B |

(iv) AR 3R gENEE TElsS & |
ISR 2 |
(V) gﬁ@ﬁm URIS fdBR D1 U AHHD TbR
|
(1) 2—9&1, 3—IeTd
(2) 2—Terd, 3—¥T8!
(3) 4—9E1, 17T
(4) 4—Tetd, 181
fod®! uot § fAlifhe Sae &1 Ufers iR wiolt

Weprear ¥ faafed fear S 8
(1) gxorgE! (2) AP
(3) &S (CYRSESS!

fhasT gdrRm & d@IRIT § DNA Ul
aref—wvell 57

(1) dfed T 3R fohap

(2) Sihg 3R AFTS

(3) fAoi= 3iR werEd

(4) &Y 3R T
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PART - IV : ZOOLOGY

136.

137.

138.

139.

Which one of the following statements among all
the four i.e., Sycon, Hirudinaria, Delphinus and
Psittacula is correct?

(1) All are bilaterally symmetrical.

(2) Psittacula is homeothermic whereas Sycon,
Hirudinaria and Delphinus are poikilothermic.

(3) Hirudinaria is a fresh water form whereas all
other are marine.

(4) Sycon has special collared cells called
choanocytes, not found in the remaining three.

Consider the following -

a. Hypothalamus b. Cerebral aqueduct

d. Cerebellum

f. Medulla

How many of them is/are part of forebrain w.r.t.
humans -

(1) One

c. Optic lobe
e. Pons

(2) Two
(3) Three (4) Four

A young couple seeks advice on natural
contraceptive methods due to religious beliefs.
Which of the following methods would be the most
appropriate for them?

(1) Tubectomy and Vasectomy

(2) Hormonal pills and IUD

(3) Rhythm method and withdrawal method
(4) All of the above

How many of the following statements are NOT
false?

(i) Liver, the largest gland in our body secretes
cholesterol, degraded steroid hormones,
vitamins and drugs.

(i1)) Only sebaceous glands eliminate certain
substances like urea, sterols and sebum.

(ii1) Sweat produced by sweat glands is an oily fluid
containing NaCl.

(iv) In uremic patients urea and glucose can be
removed by a process called renal calculi.

(1) i, i, iii (2) ionly
3) i, i, iv ) i, i, iv

136.

137.

138.

139.

frefoRad R # W BT Ub DA 3l

TSP, [80lSTNRT], Slop7e AR frerger & forq

SRR

(1) =Y fgured wfAfa u=fia oxd g |

() Nrerger Bt & wdfe  wEdr,
BeISIRIr R Sfopw Wgfhaafie € |

(3) ReofeRar w=s efta oy © STafes s it
T

(4) wrEdi7 ¥ fRY PR PRGN el & o=
PIYAASCH Bal Sfal &, Sl Y A § 81
SIERVICI

ferferRaa w farR -

a. SIZUIeIa™ b. RS TFISHT
c. dificd @ d. RIS

e. UM f. #egen

Al & <y H SWRIad § fead o alkass &

e /8-

(1) TP @)

(3) = (4) @R

U gal <ufd g1 ARICISH & BROT AHD

THRIES ARl R Ferg oar 8| e |

q B Y S5 fou 999 Sugw B8R

(1) ST IR goy THdal

(2) B Mo iR Ty

(3) g fafr sfik HWIT 3raxi fafy

(4) SWIH |

forferRad # & foas @ ey =18t €7

(i) IPd, AR IRR B FEI 991 U Plorgld
B A B 7, JAT RIS gMF, faerie
IR <ansil &I fagfed a=iar 7 |

(i) dae RIdRE TRET JRaT, wRieq o HiaH
SN BB gerdt B IAfTd B ¢ |

(i) @ Ul gRT S o, Ud deid §d
grar & Rrad NaCl 8rar 2|

(iv) IR AR 5 A9 Dodels AHSG Afhar
SRT RAT 3R DSl Bl BT SN AT & |

(1) 1, i, ii (2) dad i

(3) i, i, iv (4) i, ii, iv
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140.

141.

142.

143.

144.

In which of the following organisms, kidneys do
not play any significant role in removal of
nitrogenous waste?

(1) Macaca (2) Delphinus
(3) Aurelia (4) Pavo
Statement I: In England, before industrialisation,

melanised moths were less than white winged
moths.

Statement II: In 1920, there were more dark
winged moths in the same area of England.

(1) Statement I and Statement II both are correct.

(2) Statement I is correct but Statement II is
incorrect.

(3) Statement I is incorrect but Statement II is
correct.

(4) Both Statement I and Statement II both are
incorrect.

Mark the statement which is incorrect-

(1) Puffed up appearance of dough is due to CO>
released by alcoholic fermentation of food.

(2) Toddy is prepared by fermenting sap of palm
by microbes.

(3) Microbes are also used to ferment fish and
bamboo shoots to make foods.

(4) Cheese are formed by
multicellular microbes only.

some specific

Study all the four options carefully and tell us
which of the following is not an immediate adverse
effect of drugs and alcohol abuse :-

(1) Reckless behaviour

(2) Vandalism

(3) Violence

(4) Liver cirrhosis

Consider the following -

a. Skin b. Mucus membrane
c. Acidin stomach d. PMNL

e. Interferons

How many of them is/are comes into cytokine
barriers-

(1) One
(3) Three

(2) Two
(4) Four

140.

141.

142.

143.

144.

fferRea # 9 59 Sig #, S sgiod smufine

DI TCH H DIs Aoyl qAdr T8l fra 87
(1) F@rHT (2) SlewTvT
(3) siRferar ) grar
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Ua /I A% UNd) dTel Iedd /Uai | B o |

YT II: 1920 ¥, STofs & NI &7 # S Pl

U} grel ¥ /o 31fdd o |

(1) BAT1 3R HT 11 3! T 2|

(2) BT FE B AfhT B 11 Terd 2 |

(3) BT TAT B oAfhT BT 1 LT B |

(4) BIT13IR B 11 SF1 TAd 2 |

9 BT ol fafkd e S Tad 8-

(1) [ 37C B BT WA & Yobigiord fdbude
gRT §ad CO; & HRUT BT & |

(2) TSI JEATSidl SR TS &1 & X0 Bl fbfoaa
PP IR fhAT ST B

(3) \geASIdl BT ISUART Wrel yarf a9+ & oy
el 3R 91 IRTE Bl fhfdqd axet & forg ot
fpam Sram ® |

(4) TR dael wo [ARTe IgHIlRiar gersil
ERT 9977 ST 2 |

il IR fA&edl &1 aFYde g o iR &

gaid fb =faRad § 9 9 a1 g 79 3R

3ePhied b GOUANT Pl dcblel Ulidhdd YHId el

(1) ITURATE Fd8R

(2) gE=aT

(3) f&ar

(4) R R

frfaRed w® faamR & —

a. @l b. R4 f3reetl

c. IMARER # 3 d. PMNL

e. TR

g1 ¥ fhd ATSTIPEA JTeRIy® H 3 §—
(1) T 2 &

(3) 9= 4) IR
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145.

146.

147.

148.

149.

Consider the statements given below regarding
contraception and answer as directed thereafter

a. Medical termination of pregnancy (MTP)
during first trimester is generally safe.

b. Generally chances of conception are nil until
mother breast feeds the infant up to six years.

c. Intrauterine devices like copper-T are effective
contraceptives.

d. Emergency pills may be taken only up to two
week after coitus to prevent conception.

Which two of the above statements are correct?

(1) a,c (2) b, c

(3) a,b 4) c,d

Consider the following -

a. Bonemarrow b. Thymus

c. Tonsils d. Peyer's patches

f. MALT

How many of the is / are example of secondary
lymphoid organ -

(1) One (2) Two

(3) Three (4) Four

Which of the following disorders is characterized
by destruction of the walls of the alveoli producing
abnormally large air spaces that remain filled with

air during exhalation and found in cigarette
smoker?

e. Lymph node

(1) Tuberculosis
(3) Coryza

‘Croaking sound’ by male frog in breeding season
is mainly for

(2) Emphysema

(4) Pneumonia

(1) Expression of fear

(2) Luring the prey

(3) Mating call for female

(4) Digestion occur

Bidder’s canal is found in

(1) Male frog (2) Male cockroach
(3) Female frog (4) Both (1) & (2)

145.

146.

147.

148.

149.

THRE® & ddg # g Ry T HoAl R faar

PN AR D FETAR IR <

A. TEll fdl & SRE Twiaven @ Rfesia
AT (MTP) 81 AR W gRfa 8l 2 |

B. JMMAR WR THIEE &) AHEET I B & o
d® &b A1 B8 Al ddb RIY DI WU BRI
g |

C. BR-E A ARl IUSRTT  JwTd)
THERES ¥ |

D. M B b b AU FEAN B ddo QI
AE 9§ ddb SMUIAdleld Mo el S
Hh § |

SWRIh HIAl § F B A T el 27

(1) a, ¢ (2) b, c

3) a,b (4) c,d

fferRad o faaR a~x—

a. QIR Houll b. A

c. cTHNIA d. ™R U=

e. formm Are f. MALT

SWRIdd § fbad fgdue o=_fiery s & / &1
AT © / © —

(1) T ) <

(3) W (4) IR

frfaed & 9 foa AR @ fagvar ofeaare
DI IR & AR 3 Bl § RO SR w9
¥ g 9 Reb WM 994 € Sl |19 BIeT & IR
?Tﬁﬁ%ﬁﬁ%awﬁﬂﬁ‘ddﬁm?ﬁﬁww
(1) &g T (2) araepIf

(3) BIRST (4) et

TR HeD gRT S PIcl H SxIHT &I Bl &—
(1) 99 &I fHefh

(2) RIeR @1 Arera <=

(3) A1&T & folg WIRT Bidd / YR

(4) Ured B @I

drex dATa IRl oIy ® —

(1) R Hed # (2) TR faeraer #

(3) WeT Hed H (4) (1) 3R (2) Al H
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150.

151.

152.

153.

154.

Choose the incorrect match w.r.t. protein and its
function Protein Function

(1) Collagen — Intercellular ground substance

(2) Interferon — Protein digesting enzyme

(3) Anti body — fight infections agents

(4) GLUT-4 — enables glucose transport into cells

Which of the following sugars turn blue-black with
iodine?

(1) Starch

(2) Cellulose

(3) Both (1) and (2)

(4) Inulin

Signals for parturition originate from fully
developed foetus and the placenta which induce
uterine contractions leading to expulsion of foetus.

The hormone responsible for uterine contractions is
mainly released from

(1) Maternal pituitary
(2) Maternal kidney
(3) Foetal pituitary
(4) All of these

Which one of the following statement is totally
wrong about the occurrence of notochord while the
other three are correct?

(1) Itispresent throughout life in humans from the
very beginning

(2) Itis present throughout life in Amphioxus

(3) Itis present only in larval tail in Ascidians

(4) It is replaced by a vertebral column in adult
frog

Assertion (A): Melatonin plays a very important
role in regulation of 24 hour rhythm of our body.

Reason (R): Melatonin secreted by thyroid gland.

(1) A & R both correct and R is correct explanation
of A.

(2) A & R both correct and R is not correct
explanation of A.

(3) A correct & R incorrect.
(4) A & R both are incorrect.

150.

151.

152.

153.

154.

U IR I9® B BT TaAd Hdl o

(1) DIl — IARBIRDHIT W= uared
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efl—®rell 8 St 87

(1) ¥erd

(2) Hegeie

(3) (1) ¥R (2) T
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(1) A1 fresed

(2) HIq] gah
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(2) IE TRpISTFEE H Siiad MR HAl[e Y&l @
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@) WD Hep H Uh PHIVH TUS ENI
gfoRenfud foar Sirar @

DU (A): AT IRR @1 24 8¢ B T Bl

i o3 5 weayel e i g |

?m (R): FHeicife RIS U grT wrfaa arar

I

(1)§amRaﬁﬂ%"r?fsﬁ?R,Aaﬁwm
I

(2) A T R ST 981 © 3R R, A & W&T AT
T8l © |

(3) A &I § IR R A © |

(4) A 9 R I Tod & |
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155.

156.

157.

158.

Select the incorrect statement regarding the specific
disorder of muscular or skeletal system

(1) Myasthenia gravis — Auto immune disorder
affecting neuromuscular junction

(2) Gout - inflammation of joints due to extra
deposition of uric acid crystals

(3) Muscular dystrophy - age related shortening of
bones

(4) Osteoporosis - decrease in bone mass and
higher chances of fractures with advancing age

There is a restriction enzyme known as Hind-II, it
was isolated from which bacterium?

(1) E. coli

(2) Haemophilus influenzae

(3) Haemophilus indica

(4) Hibiscus indicus

A bioreactor provides the optical conditions for

achieving the desired product by providing
optimum growth conditions like -

(1) Only temperature, pH, micro-organisms, liquid
nitrogen

(2) Only salts,
foaming agent

(3) Only protein, DNA, pH, temperature, Arsenic

(4) Oxygen, vitamins, salts, substrate, temperature,
pH, etc.

vitamins, CO,, temperature,

There are many known benefits of mycorrhizae for
plants, which are -

A. Resistance to root-borne pathogens.

B. Tolerance to
phosphorus.

salinity and absorption of

C. Tolerance to drought.

D. Overall increase in the plant growth and
development.

Based on above statements, mention which are
true?

(1) Only A, B
(2) Only B, C
(3) OnlyC,D
(4) AllA,B,C,D

155.

156.

157.

158.

AR AT Bl a5 & [ARI R | Told HAT
BT TIT DY
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BT
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2, 39 59 Shar] | et far T ar?
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() EFifFere sV
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& U DR D [l e Reyfaai uard
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Uil @ foly ATSHRISST & &3 Sd oM 8, Sl o—

A. ST ST IFTS®I BT AR |

B. BRHRI & IEINY IR 9T b foru
SEREISEI

C. q@ & ufa WeTRiear|
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(1) BITA, B
(2) ®ad B, C
(3) I C, D
(4) ¥TA,B,C,D
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159.

160.

161.

162.

163.

164.

When a foreign DNA is inserted within the coding
sequence (gene) of the enzyme [3-galactosidase

(1) This results into inactivation of the gene
(2) This is called insertional inactivation

(3) In the presence of insertion, the colonies do not
produce any colour

(4) All of these are correct

Which of the following is correctly stated as it
happens in the common cockroach?

(1) Malpighian tubules are excretory organs
projecting out from the colon

(2) Oxygen is transported by heamoglobin in blood
(3) Nitrogenous excretory product is urea only

(4) The food is grinded gizzard

Which is not an example of protozoa?

(1) Trypanosoma

(2) Leishmania

(3) Entamoeba

(4) Calotes

Animal in which syngamy occurs inside the body
of the organism and they lay fertilised eggs covered
by hard calcareous shell is?

(1) Felis (2) Rana
(3) Corvus (4) Catla

Contraceptive method/device whose mode of
action is similar to that of pills and their effective
period is much longer, does not

(1) Inhibit ovulation

(2) Alter the quality of cervical mucus
(3) Placed under skin

(4) Block fallopian tubes

Mr. James Bond had renal failure so his doctor
advised him to undergo kidney transplantation. The
chances of rejection by the immune system of the
host is least when the kidney is taken from

(1) Parent (2) Friend
(3) Twin brother (4) Cousin

159.

160.

161.

162.

163.

164.
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165.

166.

167.

168.

A type of excretory structure ‘X’ which helps in
ionic and fluid regulation (osmoregulation) is
present in rotifers, some annelids and
cephalochordates. Identify the structure ‘X’.

(1) Nephridia

(2) Protonephridia

(3) Nephrocytes

(4) Uricose glands

Embryo of Catla and Alligator have a row of
vestigial gill slits just behind the head but it is a
functional organ only in Catla and not found in
Alligator. This evidence for evolution was
proposed by

(1) Miller

(2) Ernst Haeckel

(3) Charles Darwin

(4) Lamarck

All of the given statements are true w.r.t. separation
of DNA fragments by gel electrophoresis except

(1) The cutting of DNA by restriction
endonucleases result in the fragments of DNA
and these fragments can be separated by this
technique

(2) The most commonly used matrix is agarose
which is a natural polymer extracted from sea
weeds

(3) The DNA fragments resolve according to their
size. Hence, larger the fragment size, the
farther it moves

(4) The separated DNA fragments can be
visualised after staining the DNA with a
compound known as ethidium bromide

Complete the analogy and select the correct option.

Glenoid cavity : Pectoral girdle ::
Pelvic girdle

(1) Acromion process
(2) Occipital condyle
(3) Acetabulum

(4) Patella

165.

166.

167.

168.
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169.

170.

171.

172.

173.

Which of the following is incorrect w.r.t. the
epithelium found in the lining of small intestine?

(1) Composed of a single layer of tall and slender
cells

(2) Nuclei are located at the base
(3) Free surface may have microvilli
(4) Lines alveoli also

Resistance against infection induced by vaccines is
an example of what type of immunity?

(1) Natural active immunity
(2) Artificial active immunity
(3) Natural passive immunity
(4) Artificial passive immunity

Assertion (A):
morphine.

Heroin chemically diacetyl-

Reason (R): Opioid receptors present in CNS &
GIT.

(1) A & R both correct and R is correct explanation
of A.

(2) A & R both correct and R is not correct
explanation of A.

(3) A correct & R incorrect.
(4) A & R both are incorrect.
Statement-I: Notochord is endodermal in origin.

Statement-I1: Notochord is present in all non-
chordates.

In the light of the above statements, choose the
most appropriate answer from the options given
below:

(1) Both Statement-I and II are incorrect.

(2) Statement-I is correct but statement-II is
incorrect.

(3) Statement-I is incorrect and Statement-II is
correct.

(4) Both Statement-I and Statement-II are correct.
Which phylum shows tissue level of organisation?
(1) Protozoa

(2) Porifera

(3) Coelenterata

(4) All of these

169.
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171.

172.

173.
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174.

175.

176.

177.

178.

EcoRI cuts the DNA between bases and

only when the recognition sequence GAATTC is
present in the DNA. Select the correct option to fill
the blanks respectively.

(1) Aand T
(2) Tand C
(3) Gand A
(4) Aand C
Read the following statements carefully.

(i) PCR is used to detect mutations in genes in
suspected cancer patients.

(i) A indirect method to insert foreign gene into
plant cells is micro-injection.

(iii)) The first transgenic cow, Rosie, produced
human protein enriched milk, i.e., 5.4 grams
per litre.

(iv) RNAI takes place in all eukaryotic organisms
as a method of cellular defense.

How many of the above statements are correct?
(H1 2) 2

3) 3 4) 4

How many cycles of PCR are required for obtaining

256 molecules of dsDNA, if your starting material
was one molecule of dSDNA?

(1) 64 2) 9
(3) 128 4) 8
Which of the following is true w.r.t. the ovulation
during the menstrual cycle?

(1) Equal level of LH and FSH

(2) Level of estrogen and progesterone is almost
same

(3) Level of LH is higher
(4) Level of LH not changes
Hormonal IUD is -

(1) LNG 20

(2) Lippes loop

(3) Mala-D

(4) All of the above

174.

175.

176.

177.

178.

EcoRI, DNA &I 3R 3wl & 9= &f
Predl 8 519 DNA 4 e 3gshd GAATTC HIS[E
gar g1 R Wl & =R & fog s 9@
fadwea &1 w9 B |

(1) ASRT

(2) TR C

(3) G 3R A

(4) A 3R C

fferRad sl @ sayde ufey |

(i) PCR &1 SUaRT sdfewy dax ARl # ofiF #
SARIAT BT IdT & & forg fvar Sirar 21

(ii) O @ HIRIERIT # O SF Se &1 U6
3T TRIBT GeH SoTaRI ¥ |

(i) Ugell gIASIfe TR Sl < A4d A goh
Y AT 5.4 UM UM SAex BT Ire b |

(iv)RNAi ®IR1® gRem &1 v fafr & wu
aft goRafesd Shal # grar 2|

SWRRG HAA # & fhas g8 27

(H 1 (2) 2

(3)3 4) 4

dsDNA & 256 31Ul &I U< &3+ & oy PCR

& fbad gpi B MEIIRAT Bl 7, Il TP
TR HAHEH dsSDNA $T Teb 3] ofi?

(1) 64 )9

(3) 128 “4) 8

B & Feg § ARG g b H IS B
SR foEfeRag & 9 @9 1 9w 27

(1) LH 3IR FSH &I 991 Wi}

(2) TS IR HIIRCRM BT WR o T 9 ©
(3) LH &7 %R 3ifd & ST 2 |

(4) LH & %R §&fal "al 2

gMIE gad 1UD g —

(1) LNG 20

(2) ferfosT o

(3) ATAT-D

(4) SIRIFT T
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179. Find out the incorrect pairing - 179. M\ I BT gal o —

Component | % of total cellular mass Hch | fod PIRTDHR BT % TAA
(1) | Water 70-90 (1) | ST | 70-90
(2) | Protein 10-15 () | 9= | 10-15
(3) | Lipid 2 (3) | fafrs | 2
(4) | lon >-7 (4) | 3mF | 5-7

180. Assertion (A): Hyoid is a U shaped bone.
Reason (R): Hyoid is a paired cranial bone.

180. B (A): RIS U & 3MBR BT 7R 2 |
SR (R): BT IFAd sivad sy 2 |

(1) A & R both correct and R is correct explanation

of A. (1) A 9T R GF1 98l § 3R R, A &1 F& ARAT
(2) A & R both correct and R is not correct 8l .

explanation of A. 2) A HQJT R aﬁ—"ﬁ SE %\: AR R, A DI Aol IRAT
(3) A correct & R incorrect. T E
(4) A & R both are incorrect. (3) A W&l © U= R Tele g

(4) A @ R QI TToAd &
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